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WEEK TEST 2, MARCH 2024 

TNPSC PREVIOUS YEAR QUESTION TEST - 2 
 

1. Who was the first scholar to use the term ”Indus Civilization”? 
a. Mortimer Wheeler   b. Dr. Prannath    
c. Morris J. Spivack   d. Sir John Marshall 
e. Answer not known 
rpe;J ehfhpfk; vd;w thh;j;ijia gad;gLj;jpa Kjy; mwpQh; ahh;?  
a. khh;bkh; tPyh;   b. Kidth; gpuehj;  

c. Nkhhp]; J. ];gpthf;   d. rh; [hd; khh;~y;  

e. tpilnjhpatpy;iy 
 

2. The Indus Valley Civilization, people had a trade contact with 
1. Central Asia Mesopotamia  
2. North Eastern Afghanistan 
3. Gujarat and Baluchiston 
4. Persia 
a. (1) only  b. (2) only    c. (3) only    
d. (1),(2),(3),(4) e. Answer not known 
rpe;J rktnsp kf;fs; ve;j ehLfSld; thzpg njhlh;G nfhz;bUe;jhh;fs;  
1. kj;jpa Mrpah nkrgNlhkpah  
2. tlfpof;F Mg;fhdp];jhd;  
3. F[uhj; kw;Wk; gYr;rp];jhd;  
4. ghurPfk;  
a. (1) kl;Lk;  b. (2) kl;Lk;   c. (3) kl;Lk;    
d. (1),(2),(3),(4) e. tpil njhpatpy;iy 

 

3. Match the following Indus Valley Civilization, Geographical Area with the 
Settlements: 
Geographical Area   The Settlements 
A. West    1. Alamgirpur 
B. North    2. Daimabad 
C. South    3. Shortugai 
D. East    4. Sutkagen-dor 
 A B C D 
a. 4 3 2 1 
b. 1 2 3 4 
c. 4 2 1 3 
d. 2 4 3 1 
e. Answer not known 
rpe;J ehfhpfj;jpd; miktplj;ijAk; FbapUg;GfisAk; nghUj;Jf:  
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Gtpapay; miktplk;   FbapUg;Gfs;  
A. Nkw;F    1. Myk;fph;G+h;  

B. tlf;F    2. ijkhghj;  

C. njw;F    3. ~hh;l;Lif  

D. fpof;F    4. Rl;fhn[d;Njhh; 

 A B C D 
a. 4 3 2 1 
b. 1 2 3 4 
c. 4 2 1 3 
d. 2 4 3 1 
e. tpil njhpatpy;iy  

 
4. Match the following 

A. Mahabaladhikrita  1. Commander of the Cavalry 
B. Mahashvapati   2. Commander in Chief 
C. Mahapilupati   3. Chief Justice 
D. Mahadanda Nayak  4. Commander of the elephant force 
 A B C D 
a. 4 3 2 1 
b. 2 1 4 3 
c. 1 2 3 4 
d. 3 2 4 1  e. Answer not known 
nghUj;Jf 
A. kfhghyjpfpUj;jh   1. Fjpiu gil jsgjp 

B. kfh];tgjp   2. gilj;jsgjp 

C. kfhgpYgjp   3. jiyik ePjpgjp 

D. kfhjz;l ehaf;   4. ahidg;gilj;jsgjp 

 A B C D 
a. 4 3 2 1 
b. 2 1 4 3 
c. 1 2 3 4 
d. 3 2 4 1 e. tpil njhpatpy;iy 

 
5. Match the List I with List II and choose your answer  from codes given below: 

List (Person)    List II (Titles)  
A. Arya Bhatta   1. Newton of India  
B. Skanda Gupta    2. Hero of Asia and Europe  
C. Chandra Gupta II  3. Destroyer of the Sakas 
D. Kalidasa    4. Shakespeare of India 
fPNo nfhLf;fg;gl;l thpir I kw;Wk; thpir II ml;ltizia nghUj;Jf:  

thpir I (egh;)    thpir II (gl;lk;)  
A. Mhpag;gl;lh;    1. ,e;jpahtpd; epA+l;ld;  

B. ];fe;jFg;jh;   2. Mrpa kw;Wk; INuhg;ghtpd; P̀Nuh  

C. ,uz;lhk; re;jpuFg;jh;    3. rhfh;fis mopj;jth;  

D. fhspjhrh;    4. ,e;jpahtpd; N~f;];gpah;  
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  A B C D 
a. 1 2 3 4 

 b. 3 4 1 2 
 c. 4 3 2 1 
 d. 1 3 2 4 
 e.  tpil njhpatpy;iy  

 
6. Arrange the chronological order 

1. Death of Humayun   2. Second Battle of Panipat 
3. Building at Fatehpur Sikiri  4. Proclamation of Din-illahi 
a. 2-1-4-3  b. 1-2-3-4   c. 3-4-2-1   
d. 4-3-2-1  e. Answer not known 
fPo;fz;ltw;iw fhy thpirg;gLj;Jf 
1. `{kha+dpd; ,wg;G   2. ,uz;lhk; ghdpgl; Nghh; 
3. gNjg;g+h; rpf;hp fl;lg;gLjy;  4. jPd; ,yh`p kjk; mwptpg;G 
a. 2-1-4-3  b. 1-2-3-4   c. 3-4-2-1   
d. 4-3-2-1  e. tpil njhpatpy;iy 

 

7. Assertion (A)  : The Third Battle of Panipat in 1761, paved the way 
for the rise of the British Power in India. 
Reason (R) : The defeat in the battle dealt a severe blow to the  
   Marathas and the Mughal empire. 
a. (A) is true, (R) is the correct explanation of (A)  
b. (A) is true, (R) is false  
c. Both (A) and (R) are false 
d. (A) is true, (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A):%d;whk; ghdpgl; Nghh; Mq;fpNyahpd; mjpfhu vOr;rpf;F toptFj;jJ. 

fhuzk; (R): ,j;Njhy;tp kuhj;jpaUf;Fk;> KfyhaUf;Fk; xU gyj;j mbiaf; 
nfhLj;jJ. 
a. A $w;W rhp R fhuzk; $w;wpd; rhpahd tpsf;fk; MFk;  

b. A $w;W rhp R fhuzk; jtW  

c. A $w;W kw;Wk; R fhuzk; jtwhdit  

d. A $w;W rhp> R fhuzk; $w;wpd; rhpahd tpsf;fk; my;y  

e. tpil njhpatpy;iy 
 

8. Which one of the following incorrectly paired? 
a. Mirabai   -  Maharastra 
b. Chaitanya   -  Bengal 
c. Ramananda  -  Prayag 
d. Namadeva   -  Maharashtra 
e. Answer not known 
fPo;f;fz;ltw;Ws;s vJ jtwhfg; nghUj;jg;gl;Ls;sJ? 
a. kPuhgha;    - kfhuh~;buk; 

b. irjd;ah;    - tq;fhsk;  

c. ,uhkhde;jh;  - gpuahf; 

d. ehkNjth;   - kfhuh~;buh 

e. tpil njhpatpy;iy 
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9. Consider the following pairs: 
I. Rukmani Devi Arundale - Kalakshatra 
II. Ravi Shankar   - Sangeet Natak Academy 
III. M.S. Subbulakshmi  - Ramon Magsaysay Award 
IV. J. Krishnamoorthy  - Bharat Ratna 
Which of the pair given above is/are incorrect? 
a. I and IV only  b. II only   c. II and III only  
d. IV only   e. Answer not known 
nfhLf;fg;gl;Ls;s ,izfspy; vJ / vit jtwhdit vd Fwpg;gpLf.  
I. Uf;kzp Njtp mUz;Nly;  - fyhN~j;uh  

II. utp rq;fh;    - rq;fPj ehlf rig  

III. vk;.v];. Rg;Gyl;Rkp  - uhkd; kf;rhNr tpUJ  

IV. N[. fpU~;z%h;j;jp  - ghuj; uj;dh  

a. I kw;Wk; IV kl;Lk;  b. II kl;Lk;    c. II kw;Wk; III kl;Lk; 
d. IV kl;Lk;    e. tpil njhpatpy;iy  

 
10. Buddhist poet Asvaghosa wrote ‘Buddha Charita’ in _______ language 

a. Prakrit   b. Pali     c. Urdu 
d. Sanskrit   e. Answer not known 
Gj;j ftpQh; m];tNfh~h; “Gj;j rhpij” ia ______ nkhopapy; vOjpdhh; 

a. gpuhfpUjk;   b. ghyp    c. cUJ 

d. rk];fpUjk;  e. tpil njhpatpy;iy 
 
11. Regarding the Indus Valley Civilization, consider the following statement. 

1. It was predominantly a secular civilization and the religious element though 
present did not dominate the scene. 
2. During the period, Cotton was used for manufacturing textiles in India. 
Which of the statements given above is/are correct?  
a.    (1) only   b. (2) only   c. Both (1) and (2)  
d. Neither (1) nor (2) e. Answer not known 
rpe;J rkntsp ehfhpfk; gw;wpa fPo;f;fz;l $w;wpy; vJ rhpahd $w;Wfisj; Njh;T 
nra;f.  
1. ,J Kjd;ikahf kjr;rhh;gw;w ehfhpfkhf fhzg;gl;lJ. NkYk; kjj;jpd; 

$Wfs; ,Ue;jhYk; kjkhdJ xU NghJk; rKjhaj;jpy; Mf;fpukpf;ftpy;iy. 
2. ,f;fhyj;jpy; [Tspj; njhopw;rhiy cw;gj;jpapy; gUj;jp Kf;fpa gq;F 

tfpj;jJ.  
a. (1) kl;Lk;     b. (2) kl;Lk;  c. (1) kw;Wk; (2) ,uz;Lk; 

d. (1) kw;Wk; (2) ,uz;Lk; ,y;iy  e. tpil njhpatpy;iy 
 
12. Match the following: 

Indus Sites    Excavated by 
A. Chanhu-Daro   1. Suraj Bhan 
B. Lothal    2. N. G. Majumdar 
C. Banavali    3. S. R. Rao 
D. Mitathal    4. Bisht  
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 A B C D 
a.  2 1 4 3 
b.  2 3 4 1 
c.  1 3 2 4 
d.  1 4 3 2 
e. Answer not known 
nghUj;Jf: 
rpe;J rkntsp efuq;fs;  mfo;thuha;r;rpahsh; 
A. rd;̀ _-jhNuh   1. #u[; ghd; 

B. Nyhj;jy;    2. vd;.[p. k[_k;jhh; 

C. gdhtsp    3. v];.Mh;. uht; 

D. kpl;lhjy;    4. gp~;l; 

A B C D 
a.  2 1 4 3 
b.  2 3 4 1 
c.  1 3 2 4 
d.  1 4 3 2 
e. tpil njhpatpy;iy 

 
13. Which of the following was the Port City of Indus Valley Civilisation? 

a. Lothal   b. Harappa   c. Kalibangan 
d. Larkana   e. Answer not known 
gpd;tUtdtw;Ws; rpe;J rkntsp ehfhpfj;jpd; JiwKf efuk; vJ? 
a. Nyhj;jy;   b. `ug;gh   c. fspgq;fd; 
d. yh;fhdh   e. tpil njhpatpy;iy 

 
14. Who erected the non-rusted Iron Pillar in the Qutb Minar complex at Mehrauli? 

a. Samudra Gupta  b. Kumara Gupta I  c. Chandra Gupta II 
d. Vishnu Gupta   e. Answer not known 
nk ;̀uhypapy; FJg;kpdhh; tshfj;jpy; cs;s JUg;gpbf;fhj ,Uk;Gj;J}iz 
mikj;jth; ahh;? 
a. rKj;jpu Fg;jh;  b. Kjyhk; Fkhu Fg;jh; c. ,uz;lhk; re;jpu Fg;jh; 

d. tp~;Z Fg;jh;  e. tpil njhpatpy;iy 
 
15. Match the following 

A. Rig Veda    1. Sacrificial formulae 
B. Yajur Veda   2. Hymns 
C. Sama Veda   3. Spells and Charms 
D. Atharva Veda   4. Chants and Melodies 

A B C D  
a. 1 2 3 4  
b.  2 1 4 3  
c. 3 4 2 1   
d. 4 3 1 2 
e. Answer not known 
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fPNo cs;stw;iw nghUj;Jf. 
A. hpf; Ntjk;   1. ahfk; nra;Kiw 
B. a[_h; Ntjk;  2. fPh;j;jidfs;  
C. rhk Ntjk;   3. khe;j;hPfk; 
D. mjh;t Ntjk;  4. ghly;fs; kw;Wk; nky;ypirfs; 

A B C D  
a. 1 2 3 4  
b.  2 1 4 3  
c. 3 4 2 1   
d. 4 3 1 2 
e. Answer not known 

 
16. Match the correct classification of land during the Gupta period. 

A. Kshetra   1. Waste land 
B. Khila   2. Cultivable land 
C. Aprahata  3. Habitable land 
D. Vasti  4. Forest land 
 A B C D 
a.  1 2 3 4 
b.  4 2 1 3 
c.  2 1 4 3 
d.  3 4 1 2 
e. Answer not known 
Fg;jh; fhyj;jpd; epyq;fis fPo;f;fz;ltw;Wld; rhpahf nghUj;jpLf. 
A. Nrj;uh  1. jhpR epyk; 

B. fpyh  2. Ntshz;ikf;F cfe;j epyk; 

C. mg;ufjh  3. FbapUg;gjw;F cfe;j epyk; 

D. t];jp  4. td epyk; 

A B C D 
a.  1 2 3 4 
b.  4 2 1 3 
c.  2 1 4 3 
d.  3 4 1 2 
e. tpil njhpatpy;iy 

 
17. Match the following: 

A. Varahamihira   1. Physician  
B. Kalidasa   2. Lexicographer 
C. Amarasimha  3. Sanskrit poet  
D. Dhanvantri  4. Astronomer  
 A B C D 
a.  4 3 1 2 
b.  4 2 1 3 
c.  4 3 2 1 
d.  3 4 1 2 
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nghUj;Jf. 
A. tuhfkpfpuh;  1. kUj;Jth; 

B. fhspjhrh;   2. mfuhjpapayh; 

C. mkurpk;`h  3. rk];fpUj Gyth; 

D. jd;te;jphp   4. thdpay; mwpQh; 

A B C D 
a.  4 3 1 2 
b.  4 2 1 3 
c.  4 3 2 1 
d.  3 4 1 2 
e. tpil njhpatpy;iy 

 
18. Which of the following statements about the Gupta society is true? 

1. The Gupta emperors called themselves as Parama Bhagavatas 
2. Trade with Rome and China flourished 
3. Women from higher classes wear purdah 
4. The custom of Sati was practiced by them 
a. 1 and 3 are correct b. 3 and 4 are correct  c. only 4 is correct 
d. 1, 2 and 4 are correct e. answer not known 
fPo;f;Fwpg;gplg;gLgtw;wpy; Fg;jh;fs; fhyr; rKjhak; Fwpj;j $w;Wfspy; 
rhpahdit vit?  
1. Fg;j murh;fs; jsq;fisg; guk;ghftjh; vd;W mioj;Jf; nfhz;ldh;.  
2. rPdhTlDk;. NuhKlDk; tpahghuk; nropj;jJ.  
3. cah; tFg;Gg; ngz;fs; Kfj;jpiu mzpe;jdh;  
4. cld;fl;il VWk; gof;fk; ,Ue;jJ. 
a. 1 kw;Wk; 3 rhp   b. 3 kw;Wk; 4 rhp    c. 4 kl;Lk; rhp 
d. 1> 2 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 

 

19. Harisena was the court poet of  
a. Samudra Gupta  b. Skanda Gupta  c. Chandra Gupta II 
d. Kumara Gupta  e. Answer not known 
`hpNrdh; ,tuJ mitg; Gytu; 
a. rKj;jpu Fg;ju;  b. ];fe;j Fg;jh; c. ,uz;lhk; re;jpu Fg;ju; 

d. Fkhu Fg;ju;  e. tpil njupatpy;iy 
 

20. Which one of the Statement is correct regarding Dauladabad? 
1. Dauladabad mean city of wealth. 
2. Another name of Dauladabad is Devagiri. 
3. Muhammad  bin   Tughlaq   changed  his   capital   from   Delhi  to  Devagiri. 
4. Dauladabad was a part of the Bahmini kingdom. 
a. 1 only   b. 2 only   c. 3 only   
d. l, 2, 3, 4   e. Answer not known 
fPo;fz;litfspy; njsyjhghj; gw;wpa $w;Wfspy; rhpahdJ vJ? 
1. njsyjhghj; vd;why; nry;tk; nfhopj;j efuk; vd;W ngah;. 
2. njsyjhghj;jpd; kw;nwhU ngah; Njtfphp  
3. KfkJ gpd; Jf;sf; jiyefiu nly;ypapy; ,Ue;J Njtfphpf;F khw;wpdhh;. 
4. njsyjghj;> ghkpdp murpd; xU gFjpahFk;. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 3 kl;Lk;  

d. 1, 2, 3, 4    e. tpil njhpatpy;iy 
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21. Who among the following was first ruler to propound the Divine Right Theory 
of Kingship? 
a. Alauddin Khilji  b. Balban   c. Iltumish 
d. Raziya   e. Answer not known 
fPo;tUgtw;Ws; murhpd; nja;tPf chpikf; Nfhl;ghl;il Kd;itj;j Kjy; murh; 
ahh;? 
a. myhTjPd; fpy;[p  b. ghy;gd;   c. ,y;Jkp~; 

d. ,urpah   e. tpil njhpatpy;iy 
 
22. The first architectural construction made by Qutb -ud-Din-Aibak was the  

a. Qutb Minar   b. Arhai-Din-Ka-Jhompra 
c. Quwwat-ul-Islam mosque d. Jamaat Khana Masjid 
e. Answer not known 
Fj;Gjpd; Igf;fhy; Kjypy; cUthf;fg;gl;l fl;blkhdJ ____________ MFk;. 

a. FJg;kpdhh;    b.mh;fha;-fpd;-fh-N[hk;g;uh 

c. Fthj; cy; ,];yhk; k#jp  d. [khj; fhdh k];[pj;  

e.  tpil njhpatpy;iy 
 
23. Assertion (A): Abul Fazal’s Akbar Nama contains three volumes 

Reason (R): First volume contains an account of Akbar’s ancestors, second 
volume extensively denoted the reign of Akbar’s, Third volume has been given 
a separate title “Ain-i-Akbari” 
a. (A) is true but (R) is false 
b. Both (A) and (R) are true. (R) is the correct explanation of (A) 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true. But (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A): mGy; ghrypd; mf;gh; ehkh 3 ghfj;ij nfhz;lJ 

fhuzk; (R): Kjy; ghfk; mf;ghpd; Kd;Ndhh;fs; gw;wpaJ. ,uz;lhk; ghfk; 
mf;ghpd; Ml;rpiag; gw;wp tphpthff; $WtJ. %d;whk; ghfk; mapdp mf;ghpd; jdp 
jiyg;G 
a. (A) rhp Mdhy; (R) jtW 
b. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp (R) vd;gJ (A) tpw;F rhpahd 

tpsf;fkhFk; 
c. (A) jtW Mdhy; (R) rhp 
d. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp Mdhy; (R) vd;gJ (A) tpw;F rhpahd 

tpsf;fky;y 
e. tpil njhpatpy;iy 

 
24. Choose the incorrect match 

i. Suba - Sipahsalar 
ii. Sarkar - faujdar 
iii. Pargana - Shiqdar 
iv. Village - Bakhshi 
a. i and ii only   b. ii only  c. iii and iv only  
d. iv only    e. answer not known 
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nghUj;jk; ,y;yhjtw;iwj; Njh;e;njLf;fTk; 
i. Rgh  - rpg;ghrhyh; 
ii. rh;f;fhh; - ngs[;jhh; 
iii. gh;fhdh - rpf;jhh; 

iv. fpuhkk; - gf;~p 
a. i kw;Wk; ii kl;Lk;  b. ii kl;Lk;   c. iii kw;Wk; iv kl;Lk; 
d. iv kl;Lk;   e. tpil njhpatpy;iy 

 
25. (A): Akbar became the forerunner of ‘Sardha Act’. 

(B): He imposed the minimum age limitation as 18 years for boys and 14 
years for girls in order to discourage the child marriage 
a. A is true but B is false  b. Both A and B true  
c. A is false and B is true  c. Both A and B are false   
e. Answer not known 
(A): mf;gh; rhujh rl;lj;jpd; Kd;Ndhbahf jpfo;e;jhh; 

(B): ,th; Mzpw;F Fiwe;jJ 18 taJk; ngz;zpw;F 14 taJkhf jPhkhdpj;J 
Foe;ij jpUkzj;ij Fiwf;f eltbf;if vLj;jhh; 
a. (A) rhp Mdhy; (B) jtW b. (A) kw;Wk; (B) rhp  

c. (A) jtW kw;Wk; (B) rhp d. (A) kw;Wk; (B) jtW   

e. tpil nkhpatpy;iy 
 
26. Which pair is not correct? 

a. Shahjahan Nama - Shahjahan 
b. Tuzuk-i-Jahangiri - Jahangir 
c. Tuzuk-i-Baburi - Babur 
d. Humayun nama -Gulbadan Begum 
e. Answer not known 
jtwhd ,iz vJ? 
a. ~h[fhd; ehkh - ~h[fhd; 

b. JRf;-,- I`hq;fphp - I`hq;fphp 

c. JRf;-,-ghghp  - ghgh; 

d. `_khA+d; ehkh - Fy;gjd; Ngfk; 

e. tpil njhpatpy;iy 
 
27. Which one of the statement is correct regarding Mihrunnisha? 

1. Mihrunnisha father name was Miza Liyaz Beg, a Afghan 
2. She was born in 1577 
3. She was married to Ali Quli beg Isgulla 
4. She was conferred the title of Nurjahan and then Nurmahal 
a. 2, 3, 4 are correct 1 only incorrect  b. 2, 3 are correct 1, 4 are incorrect 
c. 1, 2, 4 are correct 3 only incorrect  d. 1, 2, 3, 4 are correct 
e. Answer not known 
nkfUd;~h Fwpj;j rhpahd $w;Wfis Njh;f.  
1. nkfUd;~h je;ij kp[h ypah]; ngf; ,th; xU Mg;fhdpah; 
2. nkfUd;~h 1577y; gpwe;jhh; 
3. ,th; myp Fyp ngf; ,];Fy;yh vd;gtiu kze;jhh;  
4. ,tUf;F E}h;[fhd; vd;w gl;lk; KjypYk; gpd;G E}h; kfhy; vd;w gl;lKk; 

nfhLf;fg;gl;lJ. 
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a. 2, 3, 4 rhpahdJ 1 kl;Lk; jtwhdJ  b. 2,3 rhpahdJ 1,4 jtwhdJ 
c. 1, 2, 4 rhpahdJ 3 kl;Lk; jtwhdJ d. 1, 2, 3, 4 rhpahdJ  
e. tpil njhpatpy;iy 
 

28. Under Maratha administration, the Amatya or Majumder was appointed 
i. He was responsible for the account of Income and Expenditure of the 

state. 
ii. He was responsible for the personal safety of the king and supervise his 

daily routine work.  
iii. He was the foreign minister.  
iv. His duty was to see that all royal letters. 
Which of the above statement is correct? 
a. (i)   b. (ii)   c. (iii)  d. (iv)   e. Answer not known 
mkj;ah my;yJ k[{k;jhh; vd;gtiu kuhj;jpa Ml;rpapy; epakdk; nra;jdh;. 
i. mth; khepyj;jpd; tuT nryT fzf;if ghh;f;Fk; nghWg;gpw;fhf 

epakpf;fg;gl;lhh;.  
ii. kd;dhpd; ghJfhg;G kw;Wk; jdp cjtpahsuhfTk; mthpd; jpdrhp 

Ntiyfis Nkw;ghhh;it epakpf;fg;gl;lhh; 
iii. ntspAwTj; Jiw ke;jphpahf epakpf;fg;gl;lhh;.  
iv. muz;kidf;F tUk; jghy;fis ghh;g;gJ mthpd; flikahFk;  
Nkw;$wpatw;wpy; vJ rhpahd $w;whFk;?  
a. (i)   b. (ii)   c. (iii)  d. (iv)   e. tpil njhpatpy;iy 

 

29. Assertion (A): Chauth and Sardesh Mukhi were the important sources of 
Maratha state Revenue.  
Reason  (R): Chauth was a charge of 25% of the land Revenue of the area which 
was claimed by the Maarathas as a price  for offering their protection against 
foreign aggression. Sardesh Mukhi was a charge equal to 1/10 of the land 
revenue. 
a. (A) is true but (R) is false  
b. Both (A) and (R ) are true (R) is the correct explanation of (A) 
c. (A) is false but (R) is true  
d. Both (A) and (R) are true but (R) is not the correct explanation of (A)  
e. Answer not known 
$w;W (A): rTj; kw;Wk; rh;Nj~;Kfp thpfs; kuhj;jpa murpd; Kf;fpa tUtha; 
Mjhuq;fs; MFk;. 
fhuzk; (R): ‘rTj;’ vd;gJ me;epah;fspd; Mf;fpukpg;gpy; ,Ue;J ghJfhf;f 

Ntz;b nkhj;j epytUthapy; 25% t#ypf;fg;gl;l thpahFk;. ‘rh;Nj~;Kfp’ thp 
epytUthapy; gj;jpy; xU gq;F 1/10 t#ypf;fg;gl;lJ. 

a. (A) rhp Mdhy; (R)jtW. 
b. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp. (R) vd;gJ (A) tpw;F rhpahd tpsf;fkhFk;  
c. (A) jtW Mdhy; (R) rhp 
d. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp Mdhy; (R) vd;gJ (A) tpw;F rhpahd 

tpsf;fky;y. 
e. tpil njhpatpy;iy 

 

30. Identify the wrong statements from the following. 
a. Shivaji’s guardian was Dadaji Kondadev 
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b. The coronation of Shivaji was celebrated with great splendour at Raigod. 
c. Shivaji’s soldiers plundered Surat in 1665. 
d. In 1674, Shivaji crowned himself by assuming the title of “Chatrapati”. 
e. Answer not known 
fPo;f;fz;ltw;Ws; jtwhd $w;iwf; fz;lwpf. 
a. rpth[papd; ghJfhtyh; jhjh[p nfhz;lNjt;. 

b. rpth[p uha;fl; Nfhl;ilapy; Kb#l;bf; nfhz;lhh;. 

c. rpth[papd; gil tPuh;fs; 1665y; #uj;ij #iwahbdhh;. 

d. 1674-,y; rj;ugjp vDk; ngaupy; Kb#bdhh; 

e. tpil njhpatpy;iy 
 
31. Regarding the taxation system of Krishna Deva, the ruler of Vijayanagar. 

Consider the following statements: 
(1) The tax rate on Land was fixed depending on the quality of the land. 
(2) Private owners of workshops paid on industries tax. 
Which of the statements given above is/are correct? 
a. (1) only   b. (2) only        c. Both (1) and (2) 
d. Neither (1) nor (2) e. Answer not known 
tp[aefu kd;dh; fpU~;zNjtuhah; thp tpjpg;G Kiwapy; fPo;f;fz;l ve;j 
tpjpKiwia gpd;gw;wpdhh;? 
1. epy thpahdJ epyj;jpd; jd;ik mbg;gilapy; eph;zapf;fg;gl;lJ. 
2. jdpahh; njhopy; epWtdq;fspd; Kjyhspfs; njhopw;rhiy thpia nrYj;jpdh;. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 kl;Lk; 
d. 1k; ,y;iy 2k; ,y;iy e. tpil njhpatpy;iy 

 
32. Match List I with List II and choose your answer from the codes given below: 

List I     List II 
Traveller    Rules of Vijayanagar 
a. Nicolo de Conti  1. Krishnadevaraya 
b. Domingo Paes  2. Devaraya II 
c. Ferno Nunz  3. Devaraya I 
d. Abdul Razzak  4. Achyuta Raya 

A B C D 
a.    3  1 4 2 
b.   1  4 2 3 

 c.   3  4 2 3 
d.   2  1 4 3 
e.  Answer not known 
nghUj;Jf. 
ml;ltiz I   ml;ltiz II 
gazpfs;   tpraefu Ml;rpahsh;fs; 
A. epf;NfhNyh-B-fhz;b 1. fpU~;zNjtuhah; 

B. Nlhkpq;Nfh ga];  2. Njtuhah; II 
C. ngh;Ndh Ed;];  3. Njtuhah; I 
D. mg;Jy; urhf;  4. mr;Rj uhah; 

A B C  D 
a.    3  1 4 2 
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b.   1  4 2 3 
c.   3  4 2 3 
d.   2  1 4 3 
e.  tpil njhpatpy;iy 
 

33. Sambavati Kalyanam has written in the language of  
a. Telugu   b. Tamil    c. Marathi 
d. Sanskrit   e. Answer not known 
rhk;ghtjp fy;ahzk; vd;w E}y; ve;j nkhopapy; vOjg;gl;Ls;sJ? 
a. njYq;F   b. jkpo;    c. kuhj;jp 
d. rk];fpUjk;  e. tpil njhpatpy;iy 

 

34. Read the following and pick out the correct statements: 
i. Musical Pillars is one of the wonders of the Nayak Rule 
ii. The music created by rhythmic hitting of stones is wondered by 

International Musicians 
iii. In the Thousand Pillared Hall of Meenakshi Temple in Madurai, one can 

find small pillars that exude music when hit upon 
iv. The Arthanaareeswara Temple at Rameshwaram consists of Pillars that 

can produce the seven swaras (Notes) 
a.  i and ii alone are correct  b.  i, ii, and iii alone are correct 
c.  i, ii, iii and iv all are correct d.  i, ii, and iv alone are correct 
e.  Answer not known  
gpd;tUk; njhliug; gbj;Jr; rhpahdijj; Njh;e;njLf;fTk;  
i. ehaf;f kd;dh;fs; Ml;rpapy; cUthd tpaj;jF mikg;G ,irj;J}z;fs; 

MFk;.  
ii. fy;yhy; ,iria vOg;Gk; fiyQH;fspd; iftz;zk; fz;L> gd;dhl;L  

mwpQh;fSk; tpae;J Nghw;Wfpd;wdh;.  
iii. kJiu kPdhl;rpak;kd; Nfhapypy; cs;s Mapuq;fhy; kz;lgj;jpy; gy rpW 

J}z;fs; cs;sd. ,jpy; xt;nthU rpW J}Zk; ,ir xyp vOg;Gtijf; 
fhzyhk;.  

iv. ,uhNk];tuk; mh;j;jehhP];tuh; Nfhapypy; cs;s J}z;fspy; VO ];tuq;fs; 
xypf;fg;gLtijf; Nfl;fyhk;.  

a. i, ii Mfpait kl;Lk; rhp  b. i, ii, iii Mfpait rhp   

c. i, ii, iii, iv midj;Jk; rhp  d. i, ii kw;Wk; iv Mfpait kl;Lk; rhp   

e. tpil njhpatpy;iy  
 

35. Assertion (A): The Indian heritage advocates hospitality, charity, 
friendship, love, respect for parents and elders and tolerance. 
Reason (R): All the above mentioned traits help the people to live in unity. 
a. Both (A) and (R) are true  
b. Both (A) and (R) are false  
c. (A) is true but (R) is false 
d. (A) is false but (R) is true  
e. Answer not known 
 
$w;W: ,e;jpa ghuk;ghpak; vd;gJ tpUe;Njhk;gy;> <if> el;G> md;G> ngw;NwhiuAk; 
kw;Wk; nghpath;fisAk; kjpj;jy; kw;Wk; rfpg;Gj; jd;ikia typAWj;JtjhFk;.  
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fhuzk;: Nkw;$wpa gz;Gfs; Ntw;Wikfis kwe;J kf;fs; xw;WikAld; 
tho cjTfpd;wd.  
a. $w;Wk; fhuzKk; rhp  

b. $w;Wk; fhuzKk; jtW  

c. $w;Wk; rhp> fhuzk; jtW  

d. $w;W jtW> fhuzk; rhp  

e. tpil njhpatpy;iy  
 

36. In what time will ₹ 5,600 amount to ₹ 6,720 at 6% per annum? 

a. 3 years  b. 3 14 years   c. 3 13 years    

d. 3 12  years  e. Answer not known 

vj;jid Mz;Lfspy; ₹ 5,600,  6% Mz;L tl;b tPjj;jpy;> $Ljy; ₹ 6,720  MFk;? 

a. 3 Mz;Lfs;  b. 3 14 Mz;Lfs;  c. 3 13 Mz;Lfs;   

d. 3 12  Mz;Lfs; e. tpil njhpatpy;iy 

 
37. If A : B = 2 : 5, B : C = 15 : 7, find the ratio of A : B : C. 

a. 2 : 5 : 7  b. 3 : 15 : 7   c. 6 : 15 : 7    
d. 6 : 15 : 14  e. Answer not known 
A : B = 2 : 5, B : C = 15 : 7 vdpy;> A : B : C apd; tpfpjj;ijf; fhz;f. 

a. 2 : 5 : 7  b. 3 : 15 : 7   c. 6 : 15 : 7   
d. 6 : 15 : 14  e. tpil njhpatpy;iy 

 
38. Kuzhal’s mother makes dosa by mixing the batter made from 1 portion of urad 

dhall with 4 portions of rice. Represent each of the ingredients used in the batter 
as percentage 
a. 60%, 40%  b. 30%, 40%   c. 80%, 20%    
d. 80%, 40%  e. Answer not known 
1 gq;F cSe;J khTld; 4 gq;F mhprp fye;j khtpy;> Foy; vd;gthpd; jhahh; 
Njhir jahhpf;fpwhh; vdpy;> khtpypUf;Fk; %yg;nghUs;fisr; rjtPjkhff; 
Fwpf;fTk;. 
a. 60%, 40%  b. 30%, 40%   c. 80%, 20%    
d. 80%, 40%  e. tpil njhpatpy;iy 

 
39. What sum of money will earn Rs. 500 as simple interest in 1 year at 5% per 

annum? 
a. 50,000 b. 30,000 c. 10,000 d. 5,000 e. Answer not known 
Mz;bw;F 5% tl;b tPjj;jpy; Xh; Mz;bw;F  &. 500 Ij; jdptl;bahfj; jUk; 
mry; vt;tsT? 
a. 50,000 b. 30,000 c. 10,000 d. 5,000 e.  tpil njhpatpy;iy 

 
40. A person decides to create a fund to be invested at 10% per annum to provide 

for prize of Rs. 500 every year.  The initial investment is 
a. Rs. 4,000  b. Rs. 5,000   c. Rs. 6,000   
d. Rs. 5,500  e. Answer not known 
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xU egh; xt;nthU Mz;Lk; &. 500 ghpR toq;Ftjw;fhf Mz;Lf;F 10% vd;w 
Kiwapy; KjyPL nra;a xU epjpia cUthf;f KbT nra;fpwhh; vdpy; Muk;g 
KjyPL fhz;f. 
a. &. 4>000  b. &. 5000   c. &. 6>000   

d. &. 5>500  e.  tpil njhpatpy;iy 
 
41. Which of the following statements are true about Buddhism? 

1. Buddhism denied the authority of Vedas 
2. Buddha’s teachings were largely based on Brahmanic ideas of Punarjanma, 

Karma and Moksha 
3. Buddhism was not practical and ethical 
4. Buddhism accepts God as creator 
a. 1, 2, 3 are correct b. 1 and 2 only are correct c. only 2 is correct 
d. 3 and 4 are correct e. answer not known 
fPo; Fwpg;gplg;gLgtw;wpy; ngsj;j kjk; Fwpj;j rhpahd $w;iw Njh;T nra;f 
1. ngsj;jk; Ntjq;fspd; Mjpf;fj;ij kWf;fpwJ 
2. ngsj;j Nghjidfs; kWgpwg;G> Nkhl;rk;> fh;kh Mfpa gpuhkzf; 

fUj;Jf;fis mbg;gilahff; nfhz;lJ 
3. ngsj;jk; eilKiw kw;Wk; newpKiwaw;wJ 
4. ngsj;jk; flTisg; gilj;jtuhf Vw;Wf;nfhs;fpwJ 
a. 1> 2 kw;Wk; 3 rhp b. 1 kw;Wk; 2 kl;Lk; rhp  c. 2 kl;Lk; rhp 
d. 3 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 

 
42. Choose the correct statement: 

i. The Indian heritage advocates hospitality, charity, friendship, love, 
humility, truth 

ii. The paintings at Ajanta and Ellora are famous worldwide 
iii. The Jain’s celebrate Buddha Poornima. 
iv. Bharathanatiyam, Kuchipudi, Kathak, Manipuri and Oddissi are some of 

the famous dances in India. 
a. i and ii are correct   b. Only iv is correct    
c. Only iii is correct    d. i , ii and iv are correct   
e. Answer not known 
rupahdf; $w;iw Nju;T nra;f: 
i. ,e;jpag; ghuk;gupak; tpUe;Njhk;gy;> <if> el;G> md;G> xOf;fk;> cz;ik> 

Mfpatw;iwf; nfhz;lJ 
ii. m[e;jh kw;Wk; vy;Nyhuh Xtpaq;fs; cyfg; Gfo; ngw;wit  
iii. rkzu;fs; Gj;j G+u;zpkhit nfhz;lhLfpd;wdu; 
iv. guj ehl;bak;> Fr;Rg;Gb> fjf;fsp> kzpg;Gup> kw;Wk; xbrp Nghd;wit 

,e;jpahtpd; Gfo; ngw;w eldf;fiyfshFk; 
a. i kw;Wk; ii rup   b. iv kl;Lk; rup  c. iii kl;Lk; rup 
d. i> ii kw;Wk; iv rup  e. tpil njupatpy;iy 

 

43. Who mentioned about the Rose Merchants of Vijayanagar? 
a. Barbarossa   b. Abdur Razak   c. Nuniz  
d. Paes   e. Answer not known 
tp[aefuj;J Nuh[h tpahghhpfisg; gw;wp Fwpg;gpl;lth; ahh;?  
a. ghh;gNuhrh   b. mg;Jh; urhf;   c. epA+dp];   

d. ga];    e. tpil njhpatpy;iy 
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44. Which of the following is correctly paired? 
1. Pattadakkal  - Chalukyas of Vatapi 
2. Elephanta caves   - Ashoka  
3. Ellora caves  - Rashtrakutas 
4. Mamallapuram  - Narasimha Varma I 
a. 1, 3, 4 are correct  b. 2, 3, 4 are correct  c. 4, 3, 2 are correct 
d. 4, 1, 2 are correct  e. Answer not known 
 
rhpahd ,iziaj; Njh;T nra;f. 
1. gl;llf;fy;    - thjhgp rhSf;fpah; 
2. vy;ngz;lh Fiffs;  - mNrhfh; 
3. vy;Nyhuh Fiffs;  - uh~;buf;$lh;fs; 
4. khky;yGuk;    - Kjyhk; eurpk;kth;kd; 
a. 1> 3> 4 rhpahdJ  b. 2> 3> 4 rhpahdJ  c. 4> 3> 2 rhpahdJ 
d. 4> 1> 2 rhpahdJ  e. tpil njhpatpy;iy 

 
45. With reference to ‘Unity in diversity’, India is an ethnological museum Which of 

the following is the correct statement?  
(i) Majority of the people of India are descendants of immigrants from across the    
Himalayas 
(ii) People belonging to different racial stocks have common physical 
appearance and food  habits. 
a. (i)    b. (ii)    c. Both (i) and (ii) 

       d. Neither (i) nor (ii)  e. Answer not know 
‘Ntw;Wikapy; xw;Wik’ vd;w fUj;jpy;> ,e;jpah ,dq;fspd; mUq;fhl;rpafk;. 
,ij nghUj;J fPNo $wg;gl;Ls;s $w;wpy; vJ rhpahdit? 
(i) ,e;jpahtpy; ngUk;ghd;ik kf;fs;> ,kakiyapypUe;J te;j kf;fspd; 

topj; Njhd;wy;fs;. 
(ii) NtWgl;l ,dkf;fs; nghJthd ,aw;if cly; mikg;G kw;Wk; 

czT gof;fj;ijAk; nfhz;Ls;sdh; 
        a. (i)        b. (ii)    c. (i) kw;Wk; (ii) ,uz;Lk;  

d. (i)k; my;y (ii)k; my;;y  e. tpil njhpatpy;iy 
 
46. Which one of the statement is incorrect regarding the Neolithic culture? 

i. They engaged in hunting, fishing and domestication of animals. 
ii. Their houses were mostly in square shape with conical roofs. 
iii. The Neolithic women wore beads as a ornaments. 
iv. The important craft of the period was pottery making. 

a. (i) is correct (ii), (iii), (iv) is incorrect 
b. (i) and (ii) are correct (iii) and (iv) are incorrect. 
c. (i), (ii), (iii) are correct (iv) only incorrect 
d. (i), (iii) and (iv) are correct (ii) only incorrect 
e. Answer not known 

gpd;tUtdtw;wpy; Gjpa fw;fhyk; Fwpj;J jtwhd $w;W vJ? 
i. Gjpa fw;fhy kdpjh;fs; Ntl;ilahLjy;> kPd;gpbj;jy; fhy;eil tsh;g;G 

njhopypy; <Lgl;ldh;. 
ii. Gjpa fw;fhy kdpjh;fspd; tPLfs; rJu tbtpYk;> $iu $k;G tbtpYk; 

mike;jpUe;jJ. 
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iii. Gjpa fw;fhy ngz;fs; kzpfis Mguzq;fshf mzpe;jpUe;jdh;. 
iv. ghid tidjy; Gjpa fw;fhy kdpjh;fspd; ifj;njhopyhf ,Ue;jJ. 
a. (i) rhp (ii), (iii), (iv) jtwhdJ.   

b. (i), (ii) rhp (iii), (iv) jtwhdJ 
c. (i), (ii), (iii) rhpahdJ (iv) kl;Lk; jtwhdJ 
d. (i), (iii), (iv) kl;Lk; rhpahdJ (ii) jtwhdJ 
e. tpil njhpatpy;iy 

 
47. Match correctly the following Indus Valley Civilization sites with its locations. 

A. Harappa   1. Sindh 
B. Mohenjadaro  2. Gujarath 
C. Kalibangan  3. Punjab 
D. Lothal    4. Rajasthan 
 A B C D 
a.  2 4 1 3 
b.  3 1 4 2 
c.  3 4 2 1 
d.  2 1 4 3 
e. Answer not known 
rpe;J rkntsp ehfhpfj;jpd; jsq;fis mjd; ,Ug;gplj;Jld; rhpahf nghUj;Jf. 
A. `ug;gh   1. rpe;J 

B. nkhn`Q;rjhNuh  2. F[uhj; 

C. fhspgq;fd;  3. gQ;rhg; 

D. Nyhj;jy;   4. uh[];jhd; 

A B C D 
a.  2 4 1 3 
b.  3 1 4 2 
c.  3 4 2 1 
d.  2 1 4 3 
e. tpil njhpatpy;iy 

 
48. Arrange the Gupta rulers in chronological order: 

1. Samudra Gupta   2. Sri Gupta 
3. Kumara Gupta – II  4. Rama Gupta 
a.  2,1,4,3    b. 2,3,4,1   c. 4,2,3,1 
d. 4,3,1,2    e. Answer not known 
Fg;j Ml;rpahsh;fis fhythpirg;gbj;Jf 
1. rKj;jpu Fg;jh;   2. = Fg;jh;      
3. ,uz;lhk; Fkhu Fg;jh;  4. uhkh Fg;jh; 

a.  2,1,4,3    b. 2,3,4,1   c. 4,2,3,1 
d. 4,3,1,2    e. tpil njhpatpy;iy 
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49. Match List I with List II and select the correct answer: 
List I     List II 
A. Vishakhadatta   1. Nitisastra  
B. Kamandaka   2. Niyaya Bhashya 
C. Asanga    3. Mudrarakshasha 
D. Vatsyayana   4. Bhumi Sastra 
 A B C D 
a. 4 2 1 3 
b. 3 1 4 2 
c. 3 2 1 4 
d. 1 3 2 4 
e. Answer not known 
gl;bay; II gl;bay; II – cld; nghUj;jp rhpahd tpilia Njh;njLj;J vOJf: 

gl;bay; I    gl;bay; II 
A. tp]hfjj;jh;   1. ePjp rh];jpuk; 

B. fhkhe;jfh;    2. epaha gh~;ak; 

C. m]q;fh;    3. Kj;u uhf;~~k; 

D. th];j;ahadh;   4. G+kp rh];jpuk; 

 A B C D 
a. 4 2 1 3 
b. 3 1 4 2 
c. 3 2 1 4 
d. 1 3 2 4 
e. tpil njhpatpy;iy 

 
50. Assertion(A):The Gupta period is rightly called the ‘Golden Age’ of literature 

and art. 
Reason (R): There was deterioration in the position of women, decline of the 
urban centres, increase in social disorder and subinfeudation in the later Gupta 
times. 
a. Both (A) and (R)are correct and (R)Explains (A) 
b. Both (A) and (R) are correct but (R) does not explains(A) 

 c. Only (A) is correct 
 d. Only (R) is correct 
 e. Answer not known 

$w;W (A) : Fg;jh; fhyk; ,yf;fpak;> fiy Mfpatw;wpd; nghw;fhyk; vd;W 
miof;fg;gLtJ rhpahFk;. 
fhuzk; (R): gpw;fhy Fg;jh; fhyj;jpy; ngz;fspd; epiyapy; rhpT> efh;g;Gw 
ikaq;fspd; tPo;r;rp> r%fr; rPh;FiyT cl;gpsTfs; mjpfhpg;G Mfpait 
,Ue;jd. 
a. (A) kw;Wk; (R) rhpahdJ> (R) vd;gJ (A) tpw;F rhpahd tpsf;fkhFk; 

b. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp kw;Wk; (R) vd;gJ (A) tpw;F rhpahd 
tpsf;fky;y 
c. (A) kl;LNk rhp    

d. (R) kl;LNk rhp  
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51. Question are of matching type question select the correct answer from the codes 
given below: 
List - I     List - II 
A. Samudragupta   1. Paharpur Copper Plate 
B. Chandragupta II   2. Iran Stone Pillar 
C. Buddhagupta   3. Udayagiri Caves 
D. Skandagupta   4. Junagarh Rock 
 A B C D 
a. 3 2 1 4 
b. 2 3 1 4 
c. 3 1 2 4 
d. 2 1 4 3 
e. Answer not known 
nfhLf;fg;gl;bUf;Fk; ml;ltizia nghUj;Jf. 
 ml;ltiz – I  ml;ltiz – II 
A. r%j;jpuFg;jh;   1. gfhh;Gh; nrg;G gl;lak; 

B. re;jpuFg;jh; II   2. <uhd; fy; J}z; 

C. Gj;jFg;jh;    3. cjafphp Fif 

D. ];fe;jFg;jh;   4. [_zhfh; ghiw 

 A B C D 
a. 3 2 1 4 
b. 2 3 1 4 
c. 3 1 2 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 
52. Match the List I with List II and select the correct answer form the codes given 

below in the Lists: 
List I      List II 
A. Buland Darwaza, Fatehpur Sikri 1. Alauddin Khilji 
B. Alai Darwaza, Delhi   2. Akbar 
C. Moti Masjid, Delhi   3. Shahjahan 
D. Moti Masjid, Agra   4. Aurangazeb 
Codes: 

A B C D 
a.  1 2 3 4 
b. 2 1 4 3 
c. 1 2 4 3 
d. 4 1 3 2 
e. Answer not known 
nghUj;Jf. 
tupir I     tupir II 
A. Gye;j; jh;thrh> gNjg;G+up rpf;up  1. myhTjpd; fpy;[p 

B. myha; jh;thrh> by;yp   2. mf;gh; 

C. Nkhjp k#jp> by;yp   3. ~h[fhd; 

D. Nkhjp k#jp> Mf;uh   4. xsuq;frPg; 



 

19 | PageAPPOLO STUDY CENTRE PH: 044 - 24339436, 42867555, 9840226187 

 

FwpaPLfs;: 
A B C D 

a.  1 2 3 4 
b. 2 1 4 3 
c. 1 2 4 3 
d. 4 1 3 2 
e. tpil njupatpy;iy 

 

53. Match List I with List II: 
List I     List II 
A. Ziauddin Barani   1. Tabaqat-i-Nasiri 
B. Amir Khusrau   2. Tarikh-i-Firuz Shahi 
C. Alberuni    3. Miftah ul Futuh 
D. Minhaj-us-Siraj   4. Tarikh Al Hind 
 A B C D 
a. 3 4 2 1 
b. 2 3 4 1 
c. 4 3 2 1 
d. 3 4 1 2  e. Answer not known 
gl;bay; I I gl;bay; II Tld; nghUj;Jf. 
A. [pahTjPd; guhdp   1. jg;ghfj;-,-e];hp 

B. mkPh;F];U    2. jhhpf;-,-ngNuh~; ~hfp 

C. my;ngUdp    3. kp/g;lh-cy;-GJ 

D. kpd;̀ h[; c]; rpuh];  4. jhhpf;-my;-`pe;j; 

  A B C D 
a. 3 4 2 1 
b. 2 3 4 1 
c. 4 3 2 1 
d. 3 4 1 2 e. tpil njhpatpy;iy 

  
54. Choose the right matches among the following: 

1. The Forty  - The Chalisa 
2. Razia Begum - Ruknuddin 
3. Diwan-i- ariz - Finance Minister 
4. Balban  - Barids 
a. 4 and 3 are correct  b. 2, 3 and 4 are correct c. 1 and 3 are correct 
d. 1, 2 and 4 are correct e. Answer not known 
fPo; Fwpg;gpl;ltw;wpy; rhpahd nghUj;jq;fisj; Njh;T nra;f: 
1. ehw;gjpd;kh;  - ryprh 
2. ,urpah Ngfk;  - Uf;EjPd; 
3. jpthd; I Mhp]; - epjp mikr;rh; 
4. ghy;gd;   - ghhpl;]; 
a. 4 kw;Wk; 3 rhp  b. 2> 3 kw;Wk; 4 rhp    c. 1> kw;Wk; 3 rhp  
d. 1> 2 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 
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55. Assertion [A]: Firoz Shah Tughlaq did not levy Jizya tax. 
Reason [R]: His influential Minister Khan-i-Jahan Maqbul was a Muslim convert 
Hindu. 
a. Both [A] and [R] are true, and [R] is the correct explanation of [A]. 
b. Both [A] and [R] are true but [R] is not a correct explanation of [A]. 
c. [A] is true but [R] is false 
d. [A] is false but [R] is true 
e. Answer not known 
$w;W [A]: Ry;jhd; ngNuh~h Jf;sf; ‘[p~pah’ thpia tpjpf;ftpy;iy 
fhuzk; [R]: mtuJ Gfo; ngw;w mikr;rh fhd;-<-[fhd; kf;G+y; xU kjk; khwpa 
,];yhkpah; Mthh;. 
a. [A] kw;Wk; [R] rhpahdJ NkYk; [R] MdJ [A] -f;fhd rhpahd tpsf;fkhFk;. 
b. [A] kw;Wk; [R] rhpahdJ NkYk; [R] MdJ> [A] -f;fhd rhpahd tpsf;fky;y 
c. [A] rhpahdJ Mdhy; [R] jtwhdJ 
d. [A] jtwhdJ Mdhy; [R] rhp 
e. tpil njhpatpy;iy 

 
56. Assertion [A]:In 1299, Ala-ud-din Khalji decided to capture Malwa and Gujarat 

and sent a large army under two of his generals. 
Reason [R]: Not only were these areas fertile and populous, but also controlled 
the Western Sea-Ports and Trade-Routes- connecting them with Ganga valley. 
a. Both [A] and [R] are true and [R] explains [A] 
b. Both [A] and [R] are true but [R] does not explain [A] 
c. Only [A] is true 
d. Only [R] is true 
e. Answer not known 
$w;W [A]: 1299 ,y; myhTj;jPd; fpy;[p khy;thitAk;> F[uhj;ijAk; 
ifg;gw;w jdJ ,uz;L jsgjpfspd; fPo; xU nghpa gilia mDg;g KbT 
nra;jhh;. 
fhuzk; [R]: ,e;jg; gFjpfs; tskhditahfTk;> kf;fs; njhif 
nfhz;litahfTk; ,Ue;jNjhL> Nkw;Ff; fly; JiwKfq;fisf; fl;Lg;ghl;by; 
itj;J> fq;if rkntspfNshL th;j;jfk; nra;tjw;fhd ,izg;G topfshfTk; 
,Ue;jd. 
a. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhp [R] vd;gJ [A] tpw;F rhpahd tpsf;fkhFk;. 
b. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhp> Mdhy; [R] vd;gJ [A] tpw;F rhpahd 

tpsf;fky;y 
c. [A] kl;LNk rhp 
d. [R] kl;LNk rhp 
e. tpil njhpatpy;iy 

 
57. Match correctly the Battles with their corresponding year. 

a. First battle of Panipat  1. 1527 
b. Battle of Ghaghra   2. 1529 
c. Second battle of Panipat  3. 1526 
d. Battle of Khanwa   4. 1556 
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  A B C D 
a.  1 2 3 4 
b.  3 2 4 1 
c. 4 1 2 3 
d.  3 1 4 2 
e. Answer not known 
fPo;f;nfhLf;fg;gl;Ls;s Nghh;fis mit ele;j tUlj;NjhL nghUj;Jf. 
A. Kjy; ghdpgl; Nghh;  1. 1527 

B. fhf;uh Nghh;    2. 1529 
C. ,uz;lhtJ ghdpgl; Nghh; 3. 1526 

D. fhd;th Nghh;   4. 1556 

A B C D 
a.  1 2 3 4 
b.  3 2 4 1 
c. 4 1 2 3 
d.  3 1 4 2 
e. tpil njhpatpy;iy 

 
58. Reason and Assertion type 

Assertion (A): Akbar introduced the Mansabdari system 
Reason (R) :  This system was borrowed from Iran 
a. (A) is true (R)is false   
b. Both (A) and (R) are true, and (R) is the correct explanation of (A)  
c. (A) is false (R)is true 
d. Both (A) and (R) are true, but (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W kw;Wk; fhuzk; 
$w;W (A) : mf;gh; khd;rg;jhhp Kiwia mwpKfg;gLj;jpdhh;. 

fhuzk; (R) : ,e;j Kiw <uhdpypUe;J ngwg;gl;lJ 

a. (A) rhp (R) jtW   

b. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp kw;Wk; (R) vd;gJ (A) tpw;F rhpahd 
tpsf;fkhFk; 

c. (A) jtW Mdhy; (R)rhp    

d. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp Mdhy; (R) vd;gJ (A) tpw;F rhpahd 
tpsf;fky;y 

e. tpil njhpatpy;iy 
 
59. Arrange in chronological order: 

1. Revolt of Prince Khusrau  2. Battle of Chausa   
3. Bubonic Plague in Punjab  4. Battle of Kanwah 
a. 4, 2, 1, 3 b. 1, 2, 3, 4 c. 2, 3, 1, 4 d. 3, 1, 2, 4  e. Answer not known 
fhy thpirg;gb mLf;fTk;: 
1. ,sturh; F];&tpd; fyfk;  2. rt;rh Nghh; 
3. gQ;rhgpy; nfhs;is Neha;  4. fhd;th Nghh; 
a. 4, 2, 1, 3 b. 1, 2, 3, 4 c. 2, 3, 1, 4 d. 3, 1, 2, 4  e. tpil njhpatpy;iy 

 
 

60. Which one of the statement is correct? 
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i. Humayun Nama compiled by Gulbadan Begum 
ii. Baduni translated the Bagavatha purana into Persian 
iii. Todarmal translated the Bagavatha purana into Persian 
iv. Haji Ibrahim Sirhindi translated Atharvaveda 
a. (i), (ii), (iii) are correct (iv) only incorrect 
b. (i), (iii), (iv) are correct (ii) only incorrect 
c. (i), (ii), (iv) are correct (iii) only incorrect 
d. All are correct 
e. Answer not known 
fPo;fz;l $w;Wfspy; rhpahd $w;W vJ? 
i. `_khAd; ehkh it njhFj;jth; Fy;gjd; Ngfk; 
ii. gJdp gftj Guhzj;ij ghurPf nkhopapy; nkhopngah;j;jhh; 
iii. njhlh;khy; gftj Guhzj;ij ghurPf nkhopapy; nkhopngah;j;jhh; 
iv. `[p ,g;uhfpk; rhpe;jp mjh;t Ntjj;ij nkhopngah;j;jhh; 
a. (i), (ii), (iii) rhpahdJ (iv) jtwhdJ 
b. (i), (iii), (iv) rhpahdJ (ii) kl;Lk; jtwhdJ 
c. (i), (ii), (iv) rhpahdJ (iii) kl;Lk; jtwhdJ 
d. midj;Jk; rhpahdJ 

e. tpil njhpatpy;iy 
61. Which of the following Statements is/are not correct about Akbar? 

1. Akbar was influenced by his mother 
2. Akbar took Roopmathi from Baz Bahadur 
3. Bairam khan was killed by Akbar 
4. Akbar attacked Chitoor to loot the city 
a. (1) and (2) are correct; (3) and (4) are wrong 
b. (2) and (4) are correct; (1) and (3) are wrong 
c. (2) and (3) are wrong; (1) and (4) are correct 
d. (1) is correct; (2), (3) and (4) are wrong 
e. Answer not known 
fPNo Fwpg;gplg;gl;ltw;wpy; mf;giu gw;wpa jtwhd fUj;J vJ? 
1. mf;gh; mtuJ jhahuhy; ftug;gl;lhh; 

2. mf;gh; &g;kjpia gh];gfJ}hplkpUe;J fth;e;jhh; 
3. iguhk;fhid mf;gh; nfhd;whh; 
4. mf;gh; rpj;J}iu nfhs;isabg;gjw;fhf gilnaLj;jhh; 

a. (1) kw;Wk; (2) rhp; (3) kw;Wk; (4) jtW 
b. (2) kw;Wk; (4) rhp; (1) kw;Wk; (3) jtW 
c. (2) kw;Wk; (3) jtW; (1) kw;Wk; (4) rhp 
d. (1) rhp; (2), (3) kw;Wk; (4) jtW 
e. tpil njhpatpy;iy 

 

62. Pick out the incorrect matched from the following. 
a. Muhtasibs  - Censor of Public Morals 
b. Waqia Navis - News Reporters 
c. Khufia Navis - Secret letter Writers 
d. Harakarah’s - Judicial Inspector 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;wpy; jtwhdtw;iwj; Njh;e;njLf;f. 
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a. K`jhrp]; - nghJ xOf;f jzpf;if 

b. thf;fpah etp]; - nra;jp epUgh;fs; 

c. F/gpah etp]; - ufrpa fbjk; vOJgth;fs; 

d. `uhfhu];  - ePjpj;Jiw Ma;thsh; 

e. tpil njhpatpy;iy 

 
63. Which of the following are correctly paired? 

1. Abul Qasim Khan Namkin  – Munshat-i-Namkin 
2. Inayatullah Khan   – Kalimat–i–Tayyakat 
3. Muhammed Sadiq   – Nigarnama-i-Munshi 
4. Malikzada    – Adam-i-Alamgiri 
a. 1 and 2 are correct b. 1 and 3 are correct c. 2 and 4 are correct 
d. 3 and 4 are correct e. Answer not known 
gpd;tUtdtw;Ws; rhpahfg; nghUj;jg;gl;lit vit? 
1. mGy; fhrpk;fhd; ek;fpd;  - Kd;~hj;-,-ek;fpd; 
2. ,zaj;Jy;yh fhd;   - fypkj;-,-ijahfj; 
3. Kfk;kJ rhjpf;    - epfh;ehkh-,-Kd;~p 
4. khypf;[lh    – Mlk;-,-Myk;fphp 
a. 1 kw;Wk; 2 rhp  b. 1 kw;Wk; 3 rhp  c. 2 kw;Wk; 4 rhp 
d. 3 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 
 

64. Arrange the successors of Shivaji in Chronological order 
(i) Sahu- I   (ii) Shivaji – II  (iii) Raja Ram -I 
(iv) Sambhaji   (v) Ram Raja   
a. (iv),(iii),(ii),(i),(v)  b. (ii),(i),(v),(iii),(iv)  c. (v),(iv),(ii),(i),(iii) 
d. (i),(ii),(iii),(v),(iv)  e. Answer not known 
rpth[papd; thhpRfisr; rhpahff; fhythpirg;gLj;Jf. 
i. Kjyhk; ~h`{  ii. ,uz;lhk; rpth[p iii. Kjyhk; ,uh[uhk; 

iv. rk;gh[p   v. ,uhk;uh[h   

a. (iv),(iii),(ii),(i),(v)  b. (ii),(i),(v),(iii),(iv)  c. (v),(iv),(ii),(i),(iii) 
d. (i),(ii),(iii),(v),(iv)  e. tpil njhpatpy;iy 

 
65. Match the List I with List II  

List I State    List II Capital 
A. Nizam Shahi   1. Golkonda 
B. Qutub Shahi   2. Bijapur 
C. Imam Shahi   3. Ahmednagr 
D. Adil Shahi    4. Berar 
nfhLf;fg;gl;l ml;ltiz I kw;Wk; ml;ltiz II nghUe;jp fPNo nfhLf;fg;gl;l 
FwpaPLfspy; (code)y; nghUj;Jf. 
ml;ltiz I – muR  ml;ltiz II – jiyefuk; 
A. ep[hk; rh`p   1. Nfhy;nfhz;lh 

B. FJg; rh`p   2. gp[g;G+h; 

C. ,khk; rh`p   3. mfkJ efh; 

D. mby; rh`p   4. gPuhh; 
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A B C D 
a. 3 1 4 2 
b.  2 3 1 4 
c.  1 2 4 3 
d. 4 2 3 1 
e.  tpil njhpatpy;iy 

 
66. Which of the following is incorrectly paired? 

A. Kavalgar   1. Police Officer 
B. Talara   2. Superintendent 
c. Begara   3. Watchman 
d. Senateova   4. Village Accountant 
a. (B) and (C)   b. (A) and (D)  c. (A) and (B) 
d. (B) and (D)   e. Answer not known  
gpd;tUtdtw;wpy; jtwhf ,izf;fg;gl;Ls;s ,izfisj; Njh;e;njLf;fTk;: 
A. fhty;fh;   1. Nghyp]; mjpfhhp 

B. jyhuh   2. fz;fhzpg;ghsh;  

C. Ngfhuh   3. fhtyhsp 

D. NrdNlNahth  4. fpuhkf; fzf;fhsh; 

a. (B) kw;Wk; (C)  b. (A) kw;Wk; (D)   c. (A) kw;Wk; (B) 
d. (B) kw;Wk; (D)   e. tpil njhpatpy;iy 

 
67. Match correctly the Folk dramas with their corresponding states. 

A. Kathakali   1. Bengal 
B. Jatra   2. Maharashtra 
C. Ankiya Naat  3. Kerala 
D. Tamasha   4. Assam 
 A B C D 
a. 3 1 4 2 
b. 1 2 4 3 
c. 2 4 1 3 
d. 2 4 3 1 
e. Answer not known 
ehl;Lg;Gw ehlfq;fis chpa khepyq;fNshL nghUj;Jf. 
A. fjfsp   1. tq;fhsk; 

B. [hj;uh   2. kfhuh~;buk; 

C. mq;fPa ehl;  3. Nfush 

D. jkh]h   4. m];]hk; 

 A B C D 
a. 3 1 4 2 
b. 1 2 4 3 
c. 2 4 1 3 
d. 2 4 3 1 
e. tpil njhpatpy;iy 
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68. Which of the following inscriptions belong to Samudragupta? 
I. Allahabad pillar Inscription II. Nalanda copper plate 
III. Iran stone Inscription  IV. Mehruauli pillar Inscription 
a. I, II, III and IV  b. I, II and IV   c. I, II and III 
d. I, III and IV  e. Answer not known 
fPo;f;fz;ltw;Ws; rKj;jpu Fg;jh; fhyj;ijr; rhh;e;j fy;ntl;Lfs; vit? 
I. myfhghj; J}z; fy;ntl;Lfs; II. ehse;jhr; nrg;Gg; gl;lak; 
III. vuhd; fy;ntl;Lfs;  IV. nkf;uyp J}z; fy;ntl;Lfs; 
a. I, II, III kw;Wk; IV  b. I, II kw;Wk; IV   c. I, II kw;Wk; III 
d. I, III kw;Wk; IV  e. tpil njhpatpy;iy 

 
69. Match the following: 

A. Gangadevi  1. Varadambika Parinaya 
B. Thirumalamba  2. Madura Vijayam 
C. Chamarasa  3. Prabhlinga Leelai 
D. Kanaka Dasa  4. Hari Bakthi Saara 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 2 1 3 4 
d. 3 4 1 2 
e. Answer not known 
nghUj;Jf 
A. fq;fhNjtp  1. tujhk;gpfh ghpehak; 

B. jpUkyhk;gh  2. kJuh tp[ak; 

C. rkurh;   3. gpuGypq;f yPiy 

D. fdf jhrh;  4. `hp gf;jp rhuk; 

 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 2 1 3 4 
d. 3 4 1 2   e. tpil njhpatpy;iy 

 

70. Sri Naryana Guru Swamy initiated a programme of action called Sri Narayana 
Guru Dharma Paripalana Yogam which took up issues regarding: 
i. Encouraging inter-caste marriages 
ii. Right of admission to public schools 
iii. Recruitment to Government schools 
iv. Access to temples and roads 
a. i, ii, and iii   b. ii, iii and iv   c. i, iii and iv 
c. i, ii, iii and iv  e. Answer not known 
=ehuhaz FUrhkp Jtq;fpa> ehuhaz jh;k ghpghyd ,af;fk; ve;j 
tp~aq;fis Kd;ndLj;jJ? 
i. fyg;Gj; jpUkzj;ij Cf;Ftpj;jy; 
ii. nghJg; gs;spfspy; mDkjp 
iii. muR gs;spfspy; Ntiytha;g;G 
iv. Nfhtpy;fs; kw;Wk; rhiyfspy; nry;y mDkjp 
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a. i, ii kw;Wk; iii  b. ii, iii kw;Wk; iv   c. i, iii kw;Wk; iv 
d. i, ii, iii kw;Wk; iv  e. tpil njhpatpy;iy 

 
71. Arrange Chronologically  

i. Sadlar commission    ii. The Raleigh Commission  
iii. University Grants Commission  iv. Radhakrishna Commission 
a. (ii), (i), (iv), (iii)  b.  (i), (ii), (iv), (iii)  c. (iii), (i), (ii), (iv)  
d.  (ii), (i), (iii), (iv)  e. Answer not known 
fhyKiwg;gb thpirg;gLj;Jf:  
i. rhl;yh; FO    ii. Nua;ypf; FO 

iii. gy;fiyf;fof khdpaf; FO  iv. ,uhjhfpU~;zd; FO  

a. (ii), (i), (iv), (iii)  b.  (i), (ii), (iv), (iii)  c. (iii), (i), (ii), (iv)  
d.  (ii), (i), (iii), (iv)  e. tpil njhpatpy;iy 

 
72. Which of the following statements about Brahmo Samaj is Not True? 

a. The purpose of Brahmo Samaj was to reform Hinduism. 
b. It preached belief in one God. 
c. It was based on reason. 
d. It did not incorporate the teachings of other religions. 
e. Answer not known. 
gpuk;k rkh[j;ijg; gw;wp gpd;tUk; $w;Wfspy; vJ rhpahdJ my;y? 
a. ,e;J rkaj;ij rPh;jpUj;JtJ gpuk;k rkh[j;jpd; Nehf;fkhFk;. 
b. xNu flTs; vd;Dk; ek;gpf;ifia mJ Nghjpj;jJ. 
c. mJ gFj;jpwit mbg;gilahff; nfhz;L mike;jpUe;jJ. 
d. mJ gpw rkaq;fspd; Nghjidfis cs;slf;ftpy;iy. 
e. tpil njhpatpy;iy 

 
73. Choose the right matches: 

1. The prophet of Indian nationalism -Raja Ram Mohan Roy 
2. To rouse pride of people in their Rich heritage give a call ‘back to vedas’

 - Swami Vivekananda 
3. R.G.Pradhan called him the father of Indian Nationalism - Swami Dayanand 

Saraswathi 
4. ‘Swaraj is my birth right’ is a statement of - Bal Gangadhar Tilak 
a. 1 and 2 are correct b. 2 and 3 are correct  c. 3 and 4 are correct 
d. 1 and 4 are correct e. Answer not known 
rhpahdtw;iw nghUj;Jf: 
1. ,e;jpa Njrpaj;jpd; J}Jth;   - ,uh[h uhk; Nkhfd;uha; 
2. kf;fspd; rpwe;j ghuk;ghpaj;ij njhpe;J nfhz;L vOr;rp ngw Ntjq;fis 

Nehf;fp nry;Yk; - Rthkp tpNtfhde;jh 
3. R.G. gpujhd; ,tiu ,e;jpa Njrpaj;jpd;  je;ij vd;wioj;jhh; - Rthkp 

jahde;j ru];tjp 
4. Rauh[;ak; vdJ gpwg;Ghpik vd;W $wpath; - ghy fq;fhjh; jpyfh; 

 a. 1 kw;Wk; 2 rhp  b. 2 kw;Wk; 3 rhp  c. 3 kw;Wk; 4 rhp 
 d. 1 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 
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74. Match and choose the correct answer from the code given below: 
A. Bala Gangadhar Tilak  1. Voice of India 
B. Dadabhai Naoroji  2. Madras Times 
C. Macaulay    3. Kesari 
D. William Digby   4. Minute on Indian Education 
 A B C D 
a. 2 4 1 3 
b. 3 1 4 2 
c. 1 3 2 4 
d. 4 2 3 1 
e. Answer not known 
gpd;tUdtw;iwg; nghUj;jp rhpahd tpiliaj; Njh;T nra;f. 
A. ghy fq;fhjhu jpyfh;  1. ,e;jpahtpd; Fuy; 

B. jhjhgha; nesNuh[p  2. nkl;uh]; ilk;]; 

C. nkf;fhNy    3. Nfrhp 

D. tpy;ypak; bf;gp   4. ,e;jpaf; fy;tp Fwpj;j Fwpg;Gfs; 

 A B C D 
a. 2 4 1 3 
b. 3 1 4 2 
c. 1 3 2 4 
d. 4 2 3 1 
e. tpil njhpatpy;iy 
 

75. Choose the right matches from the following pairs: 
(i) Reform Movement  - Women’s Liberation Movement 
(ii) Revolutionary Movement - Brahmo Samaj 
(iii) Resistance Movement  - Anti-Hindi Movement 
(iv) Utopian Movement  - The Sarvodaya Movement 
a. (i) and (iii) are correct  b. (i) and (ii) are correct 
c. (ii) and (iii) are correct  d. (iii) and (iv) are correct 
e. Answer not known 
fPo;f;fhz;gtw;wpy; rhpahd nghUj;jj;ijj; Njh;e;njLf;fTk; 
(i) rPh;jpUj;j ,af;fk; - ngz;fs; tpLjiy ,af;fk; 

(ii) Gul;rpfu ,af;fk; - gpuk;k rkh[k; 

(iii) vjph;g;G ,af;fk; - ,e;jp kWg;G ,af;fk; 
(iv) cNlhg;gpa ,af;fk; - rh;Nthjah ,af;fk; 

a. (i) kw;Wk; (iii) rhpahdit  b. (i) kw;Wk; (ii) rhpahdit  

c. (ii) kw;Wk; (iii) rhpahdit  d. (iii) kw;Wk; (iv) rhpahdit  

e. tpil njhpatpy;iy 
 
76. The compound interest on ₹ 4000 compounded annually for 2 years at the rate 

of 5% per annum is 
a. ₹ 400 b. ₹ 480 c. ₹ 430 d. ₹ 410 e. Answer not known 
Mz;Lf;F xU Kiw tl;b $l;Lk; Kiwapy; ₹ 4000 f;F Mz;nlhd;Wf;F 5% 
tl;b tPjk; ,uz;L Mz;Lfspy; fpilf;Fk; $l;L tl;b vt;tsT? 
a. ₹ 400 b. ₹ 480 c. ₹ 430 d. ₹ 410 e. tpil njhpatpy;iy 
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77. Find the CI on ₹ 15000 for 3 years, if the rate of interest are 15%, 20% and 25% 
for I, II and III years respectively. 
a. ₹ 9,875 b. ₹ 10,875 c. ₹ 12,875 d. ₹ 11,875 e. Answer not known 
I> II kw;Wk; III Mz;LfSf;fhd tl;b tPjq;fs; KiwNa 15%, 20% kw;Wk; 25% 
vdpy; ₹ 15000 f;F 3 Mz;LfSf;F fpilf;Fk; $l;L tl;biaf; fhz;f. 

a. ₹ 9,875 b. ₹ 10,875 c. ₹ 12,875 d. ₹ 11,875 e. tpil njhpatpy;iy 
 
78. Find the number of years for the principal ₹ 2,500 rate of interest 2.5% and 

simple interest ₹ 187.50? 
a. 2  b. 3  c. 4  d. 5  e. Answer not known ₹ 2,500 mryhdJ> 2.5% tl;b tPjKk;> ₹ 187.50 jdp tl;bahf vj;jid 
Mz;Lfspy; fpilf;Fk; 
a. 2  b. 3  c. 4  d. 5  e. tpil njhpatpy;iy 

 
79. The ages of Rahul and Haroon are in the ratio 5 : 7.  Four years later the sum of 

their ages will be 56 years.  What are their present age? 
a. (15, 21)  b. (20, 28)   c. (25, 35)   
d. (24, 32)  e. Answer not known 
uhFy; kw;Wk; `&zpd; jw;Nghija taJfspd; tpfpjk; 5 : 7 ehd;F Mz;Lfs; 
fopj;J mth;fspd; taJfspd; $Ljy; 56 tUlq;fs;.  mth;fspd; jw;Nghija 
taJ vd;d? 
a. (15, 21)  b. (20, 28)   c. (25, 35)   
d. (24, 32)  e.  tpil njhpatpy;iy 
 

80. A car travels 90 km in 2 hours 30 minutes. How much time is required to cover 
210 km? 
a. 3 hours 50 minutes b. 5 hours 50 minutes c. 5 hours 30 minutes 
d. 3 hours 30 minutes e. Answer not known 
xU kfpOe;J 90 fp.kP. J}uj;ijf; flf;f vLj;Jf;nfhs;Sk; Neuk; 2 kzp 30 
epkplq;fs;. mNj kfpOe;J 210 fp.kP. J}uj;ijf; flf;f vLj;Jf;nfhs;Sk; Neuk; 
vt;tsT? 
a. 3 kzp 50 epkplq;fs; b. 5 kzp 50 epkplq;fs; c. 5 kzp 30 epkplq;fs; 

d. 3 kzp 30 epkplq;fs; e. tpil njhpatpy;iy 
 
81. Which statement is true about the practice of Sati? 

i. Raja Ram Mohan Roy took the oath to abolish the Sati. 
ii. He helped William Bentinck to abolish this practice. 
iii. The practice of Sati was declared a punishable offence in 1829. 
a. Only I   b. Only ii   c. Only iii 
d. i, ii and iii   e. Answer not known 
rjp eilKiw gw;wpa rhpahd $w;wpid/$w;Wfisj; Njh;e;njLf;fTk; 
i. uh[h uhk; Nkhfd; uha; rjp vDk; tof;fj;ij xopf;f cWjpnkhop vLj;jhh; 

ii. rjpia xopf;f tpy;ypak; ngz;bf;-fpw;F cjtpdhh; 

iii. rjp gof;fk; jz;lidf;Fhpa Fw;wkhf 1829,y; mwptpf;fg;gl;lJ. 

a. i kl;Lk;   b. ii kl;Lk;    c. iii kl;Lk; 
d. i> ii kw;Wk; iii   e. tpil njhpatpy;iy 
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82. Which of these legislation banned Sati and made it Illegal? 
a. Bengal Regulation XXI of 1975  
b. Act of 1870 
c. Sharda Act 1930    
d. Regulation Act XVII of December 1829 
e. Answer not known 
ve;jr; rl;lk; rjpiaj; jil nra;jNjhL mijr; rl;ltpNuhjkhdJ vdf; $wpaJ? 
a. tq;fhs xOq;FgLj;Jk; rl;lk; XXI – 1975 
b. 1870 Mk; Mz;Lr; rl;lk; 

c. rhujh rl;lk; 1930 
d. 1829 Mk; Mz;L brk;ghpy; nfhz;Ltug;gl;l xOq;FgLj;Jk; rl;lk; XVII 
e. tpil njhpatpy;iy 

 

83. Assertion [A]: Macaulay argued for Western education in the English 
language. 
Reason [R]: Macaulay’s intention was to educate the people of India not in 
Sanskrit or Persian language. 
a. [A] is correct but [R] does not explain [A] 
b. [A] is correct and [R] is incorrect 
c. [A] is correct and [R] is a correct explanation of [A] 
d. Both [A] and [R] are wrong 
e. Answer not known 
$w;W [A]: nkf;fhNy jdJ Fwpg;Gfspy; Mq;fpy topapy; Nkw;fj;jpaf; fy;tp 
fw;gpf;fg;gLtjw;F Mjuthf thjpl;lhh;. 
fhuzk; [R]: nkf;fhNy> ,e;jpah;fSf;F rk];fpUjj;jpYk;> ghurPf nkhopapYk; 
fy;tp Gfl;l $lhJ vd;w vz;zk; nfhz;bUe;jhh;. 
a. $w;W rhp; Mdhy; fhuzk; $w;iw tpsf;ftpy;iy 

b. $w;W rhp; fhuzk; jtW 

c. $w;W rhp; fhuzk; $w;iw rhpahf tpsf;FfpwJ 

d. $w;W fhuzk; ,uz;Lk; jtW 
e. tpil njhpatpy;iy 

 
84. Assertion [A]:The Small Scale Industry of India was ruined due to the approach 

of the Britishers. 
Reason [R]:British Government declared the Policy of free trade in the year 1833. 
a. [A] is true but [R] is false 
b. Both [A] and [R] are true; and [R] is the correct explanation of [A] 
c. [A] is false, but [R] is true 
d. Both [A] and [R] are true, but [R] is not the correct explanation of [A] 
e. Answer not known 
$w;W [A]: gphpl;b~; Ml;rpahsh;fspd; mZFKiwahy; ,e;jpa rpWnjhopy; 
mope;jJ. 
fhuzk; [R]: 1833k; Mz;L gphpl;b~; murhq;fk; jilapy;yh thzpgf; 
nfhs;ifia mwptpj;jJ. 
a. [A] rhp Mdhy; [R] jtW 
b. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhp kw;Wk; [R] vd;gJ [A] -tpw;F rhpahd 

tpsf;fkhFk;. 
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c. [A] jtW Mdhy; [R] rhp 
d. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhp> Mdhy; [R] vd;gJ [A] tpw;F rhpahd 

tpsf;fky;y  
e. tpil njhpatpy;iy 

 
85. Which of the following statements about Ram Mohan Roy are True? 

1. He fought against child marriage. 
2. He campaigned against the practice of Sati and succeeded in abolising with 

the help of British Government. 
3. He opposed the Hindus system of Idolatry and cult. 
4. He fought for the spread of Traditional education through the medium of 

Sanskrit. 
a. 1, 2, 3, 4   b. 1, 2, 4   c. 1, 2, 3 
d. 2, 3, 4   e. Answer not known 
uhk; Nkhfd; uha; gw;wpa fPo;tUk; $w;Wfspy; vit cz;ikahdit? 
1. Foe;ijj; jpUkzj;jpw;F vjpuhfg; Nghuhbdhh; 
2. cld;fl;ilf;F vjpuhfg; gpur;rhuk; nra;jhh;. NkYk; gphpl;b~; muRld; Nru;e;J 

mij xopg;gjpy; ntw;wp ngw;whh;. 
3. ,e;J kjj;jpy; ,Uf;Fk; cUt topghl;ilAk; topghl;L KiwfisAk; 

vjph;j;jhh;. 
4. rk];fpUj nkhop %yk; ghuk;ghpa fy;tpiag; gug;g Nghuhbdhh;. 
a. 1, 2, 3, 4   b. 1, 2, 4   c. 1, 2, 3 
d. 2, 3, 4   e. tpil njhpatpy;iy 
 

86. Match and choose the correct answer from code given below: 
A. East India Association   1. 1885 
B. Madras Native Association  2. 1884 
C. Madras Mahajana Sabha  3. 1852 
D. Indian National Congress  4. 1866 
 A B C D 
a. 1 3 2 4 
b. 1 2 3 4 
c. 3 4 1 2 
d. 4 3 2 1 
e. Answer not known 
gpd;tUtdtw;iw nghUj;jp rhpahd tpiliaj; Njh;T nra;f. 
A. fpof;fpe;jpa mNrhrpNard;  1. 1885 

B. nrd;idthrpfs; rq;fk;   2. 1884 

C. nrd;id kfh[d rq;fk;  3. 1852 

D. ,e;jpa Njrpa fhq;fpu];  4. 1866 

 A B C D 
a. 1 3 2 4 
b. 1 2 3 4 
c. 3 4 1 2 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
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87. Match the following: 
A. Treaty of Mangalore  1. 1765 
B. Treaty of Paris   2. 1794 
C. Treaty of Srirangapatnam 3. 1783 
D. Treaty of Allahabad  4. 1784 
 A B C D 
a. 3 2 1 4 
b. 4 3 2 1 
c. 1 3 2 4 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf: 
A. kq;f@h; cld;gbf;if   1. 1765 

B. ghhp]; cld;gbf;if   2. 1794 

C. =uq;fgl;lz cld;gbf;if  3. 1783 

D. myfhghj; cld;gbf;if  4. 1784 

 A B C D 
a. 3 2 1 4 
b. 4 3 2 1 
c. 1 3 2 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 
88. Match the following: 

A. Prarthana Samaj    1. 1870 
B. Widow Remarriage Association 2. 1884 
C. Poona Sarvajanik Sabha   3. 1867 
D. Deccan Education Society  4. 1861 
 A B C D 
a. 4 3 1 2 
b. 3 2 4 1 
c. 3 4 1 2 
d. 2 4 3 1 
e. Answer not known 
nghUj;Jf: 
A. gpuhh;j;jdh rkh[;    1. 1870 

B. tpjit kWkzr; rq;fk;   2. 1884 

C. GNd rh;t[dpf; rgh   3. 1867 

D. jf;fhz fy;tpf; fofk;   4. 1861 

 A B C D 
a. 4 3 1 2 
b. 3 2 4 1 
c. 3 4 1 2 
d. 2 4 3 1 
e. tpil njhpatpy;iy 
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89. Arrange the following events in chronological order/event type: 
(1) Revolt at Danapur 
(2) Revolt at Meerut 
(3) Death of Rani Lakshmibai of Jhansi 
(4) Mangal Pande was hanged to death 
a. 2, 3,1, 4   b. 1, 2, 4, 3   c. 4, 2, 1, 3 
d. 3, 1, 4, 2   e. Answer not known 
gpd;tUk; epfo;Tfis fhythpirg;gb xOq;fikf;fTk;. 
(1) jhdhG+hpy; fpsh;r;rp 
(2) kPul;by; fpsh;r;rp 
(3) [hd;rpapd; uhzp yl;Rkpgha; kuzk; 
(4) kq;fs; ghz;Nl J}f;fpyplg;gl;lhh; 
a. 2> 3> 1> 4   b. 1> 2> 4> 3   c. 4> 2> 1> 3 
d. 3> 1> 4> 2   e. tpil njhpatpy;iy 

 
90. ‘Damin-i-koh’ was the land given by the British to the 

a.  Santhal tribes  b.  Kol tribes  c.  Garo tribes 
d.  Munda tribes  e.  Answer not known 
‘lhkpd;-,-Nfh`;’ vd;Dk; epyk; Mq;fpNyah;fshy; _______ f;F toq;fg;gl;lJ. 
a. re;jhy; goq;Fbapdh;  b. Nfhy; goq;Fbapdh; c. fhNuh goq;Fbapdh; 
d. Kz;lh goq;Fbapdh;  e. tpil njhpatpy;iy 

 
91. Consider the following statement 

(i) Mahalwari system, was introduced by William Bentick 
(ii) Mahalwari system was introduced in the year 1833 
(iii) The owner of the land is Government in Mahalwari system 
(iv) The Village committee was held responsible for collection of taxes in 
Mahalwari system 
From there which are correct statement? 
a. (i), (ii) and (iii)  b. (iii) and (iv)  c. (i),(ii) and (iv) 
d. (i) and (iv)   e. Answer not known 
gpd;tUk; $w;iw ftdp 
i. tpy;ypak; ngd;bf; vd;gtuhy; k`y;thhp Kiw mwpKfg;gLj;jg;gl;lJ 

ii. k`y;thhp Kiw> 1833 Mk; Mz;L Njhw;Wtpf;fg;gl;lJ 

iii. k`y;thhp Kiwapy;> murhq;fNk epyj;jpd; nrhe;jf;fhuh; Mthh;  

iv. k`y;thhp Kiwapy; fpuhk FOthdJ thp t#ypf;Fk; nghWg;G nfhz;lJ  
,tw;Ws; vit rhpahd $w;W? 
a. (i), (ii) kw;Wk; (iii)  b. (iii) kw;Wk;  (iv)  c. (i),(ii) kw;Wk;  (iv) 
d. (i) kw;Wk;  (iv)  e. tpil njhpatpy;iy 

 
92. Which of the following are true about Velu Thambi? 

i. Thambi had planned a secret attack with the native people 
ii. He was a Tahsildar incharge of a Southern Travancore tract 

iii. He worked closely with the British Government 
a. (iii) only   b. (i) only   c. (ii) only 
d. (i) and (ii) only  e. Answer not known 
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,itfspy; NtY jk;gpiag; gw;wpa rhpahd $w;iw vOJ. 
i. ,th; G+h;tPf kf;fisAk; Nrh;j;J ,ufrpa jhf;Fjiy elj;j jpl;lkpl;lhh; 

ii. ,th; njw;F jpUtpjhq;$h; gFjpf;F jhrpy;jhuhf ,Ue;jhh; 
iii. ,th; gphpl;b~; murhq;fj;Jld; neUf;fkhf gzpahw;wpdhh; 
a. (iii) kl;Lk;   b. (i) kl;Lk;   c. (ii) kl;Lk; 
d. (i) kw;Wk; (ii) kl;Lk; e. tpil njhpatpy;iy 

 
93. Regarding the Poona Sarvajanik Sabha consider the statements. 

1. Mahadev Govind Ranade was the brain of the organisation. 
2. The Sabha awakened the people of their political rights. 
3. It protested against the vernacular press Act of 1878. 
4. It published ‘Amrita Bazar Patrika’. 
Which of the statements given above is/are correct? 
a. 1 and 2 only    b. 2 and 3 only 
c. 1, 2 and 3     d. 1 and 3 only 
e. Answer not known 
G+dh rh;th[dpf; rigg; gw;wp fUj;jpy; nfhs;f. 
1. kfhNjt; Nfhtpe;j uhzNl ,t;tpaf;fj;jpd; %isahfr; nray;gl;lhh;. 
2. ,r;rig kf;fspd; murpay; chpikfisg; gw;wpa tpopg;Gzh;it Vw;gLj;jpaJ. 
3. 1878k; Mz;L gj;jphpf;ifr; rl;lj;ij vjph;j;jJ. 
4. ,t;tpaf;fk; ‘mk;hpj g[hh; gj;hpfh’ vd;Dk; gj;jphpf;ifia ntspapl;lJ. 
NkNy Fwpg;gpl;l thf;fpaj;jpy; rhpahdit vit? 
a. 1 kw;Wk; 2 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk; 
c. 1> 2 kw;Wk; 3   d. 1 kw;Wk; 3 kl;Lk; 
e. tpil njhpatpy;iy 

 
94. Assertion (A): Dadabai Naoroji organized the East India Association in London 

Reason     (R): He wanted to influence the British Public opinion 
a. (A) and (R) are true and (R) is the correct explanation of (A) 
b. (A) is true, but (R) is false 
c. (A) is false, but (R) is true 
d. (A) and (R) are true and (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W  (A): jhjhgha; nesNuh[p fpof;fpe;jpaf; fofj;ij yz;ldpy; 
cUthf;fpdhh; 
fhuzk; (R): gphpl;b~; nghJkf;fs; fUj;jpd; kPJ nry;thf;F Vw;gLj;j tpUk;gpdhh;. 

a. (A) kw;Wk; (R) rhp. kw;Wk;> (R) (A)f;fhd rhpahd tpsf;fk; 
b. (A) rhp Mdhy; (R) jtW 
c.  (A) jtW. Mdhy; (R) rhp 
d. (A)kw;Wk; (R) rhp kw;Wk; (R) (A)f;fhd rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy. 

 
95. Consider the following statements: 

i. The partition of Bengal in 1905 was the most striking example of the 
British divide and rule policy 

ii. In the Calcutta meeting 1905 Surendranath Banerjee gave a call for the 
boycott of British goods and institutions. 
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iii. On 7th August 1905 at Town Hall meeting in Calcutta, a formal 
proclamation of Swadeshi movement was made  

Which of the statements given above is/are correct? 
a. i only   b. i and iii only   c. i and ii only 
d. i, ii and iii are correct e. Answer not known 
gpd;tUk; $w;Wf;fis fhz;f. 
i. 1905-,y; Nkw;nfhs;sg;gl;l tq;fg; gphptpid Mq;fpNyahpd; gphpj;jhSk; 

nfhs;iff;F kpfr; rpwe;j cjhuzkhFk;. 
ii. 1905-,y; eilngw;w nfhy;fj;jh khehl;by; RNue;jpuehj; ghdh;[p gphpl;b~; 

nghUl;fisAk; epWtdq;fisAk; Gwf;fzpf;f miog;GtpLj;jhh;. 
iii. 1905 Mf];l; 7-,y; nfhy;fj;jh efu muq;fpy; eilngw;w $l;lj;jpy; 

RNjrp ,af;fk; Fwpj;j Kiwahd mwptpg;G toq;fg;gl;lJ. 
Nkw;fz;ltw;Ws; rhpahdit vit? 
a. i kl;Lk;    b. i kw;Wk; iii kl;Lk;  c. i kw;Wk; ii kl;Lk; 
d. i, ii kw;Wk; iii rhpahdJ e. tpil njhpatpy;iy 

 

96. Second Round Table conference of 1931: 
1. It was held during the reign of Lord Wellington as the viceroy of India. 
2. It was represented by Gandhi on behalf of INC. (Indian National Congress). 
Which of the above statement is/are correct? 
a. 1 only correct  b. 2 only correct  c. Both 1 and 2 correct 
d. Neither 1 nor 2  e. Answer not known 
fp.gp. 1931 Mk; Mz;bd; ,uz;lhtJ tl;l Nki[ khehL: 
1. ntypq;fld; gpuG ,e;jpahtpd; it];uhahf ,Ue;j NghJ eilngw;wJ. 
2. ,e;jpa Njrpa fhq;fpurpd; gpujpepjpahf fhe;jp ,k;khehl;by; fye;J nfhz;lhh;. 
Nkw;fz;l $w;Wfspy; vJ/vit rhpahdit? 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1  kw;Wk; 2 ,uz;Lk; 
d. 1k; my;y> 2k; my;y e. tpil njhpatpy;iy 

 

97. Which of the following statement is correct regarding A.O. Hume? 
(i) In 1883 and 1884 Hume acted as an advisor to the Viceroy Lord Ripon. 
(ii) He closely associated with Theosophical Society. 
(iii) In 1884 he formed the Indian National Union.  
(iv) The object of the Indian National Union was ‘Indian Nationalism’. 
a. (ii), (iii) (iv) are correct (i) is incorrect 
b. (i), (ii) are correct (iii), (iv) are incorrect 
c. (i), (iv) are correct (iii), (iv) are incorrect 
d. (i), (ii), (iii), (iv) are correct 
e. Answer not known 
fPo;f;fz;l $w;Wfspy; v.X. `{Aik gw;wp rhpahd $w;W ahJ?       
(i) 1883 kw;Wk; 1884 y; `{Ak;> hpg;gd; gpuGtpw;F MNyhrfuhf gzpGhpe;jhh; 
(ii) gpuk;kQhd rig vd;w mikg;NghL neUq;fpa njhlh;G nfhz;bUe;jhh; 
(iii) 1884 y; ,e;jpa Njrpa A+dpaid Muk;gpj;jhh; 

(iv) ,e;jpa Njrpa A+dpadpd; Nehf;fk; ,e;jpa Njrpakhf ,Ue;jJ. 
a. (ii),  (iii), (iv) rhpahd $w;W (i) tJ $w;W jtwhdJ 
b. (i)> (ii) $w;W rhpahdJ (iii)> (iv) $w;W jtwhdJ 
c. (i)> (iv) $w;W rhpahdJ (iii)> (ii) $w;W jtwhdJ 
d. (i)> (ii)> (iii)> (iv) $w;W rhpahdJ 
e. tpil njhpatpy;iy 
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98. Who laid the foundation of Radhakrishna high school at Jagraon in 1914? 
a. Bipin Chandra Pal  b. Chittaranjan Das  c. Lala Lajpat Rai 
d. Sardar Vallabai Patel  e. Answer not known 
1914 Mk; Mz;L [hf;Nuhdpy; cs;s uhjh fpU~;z cah;epiy gs;spia 
epWtpath; ahh;? 
a. gpgpd; re;jpughy;   b. rpj;juQ;rd; jh];  

c. yhyhy[gjp uha;   d. rh;jhh; ty;ygha; gl;Nly;   

e. tpil njhpatpy;iy 
 
99. Which among the following statements is/are correct? 

1. The first Political Organisation of the Bombay Presidency was the Bombay 
Association 

2. The first Organisation in the Madras Presidency was Madras Mahajana 
Sabha 

3. Mary Carpenter established Poona Sarvajanik Sabha on the advice of Raja 
Ram Mohan Roy 

Choose the correct option form the following 
a. 1 only    b. 1 and 2 only  c. 2 and 3 only 
d. 1, 2 and 3 All the three  e. Answer not known 
gpd;tUk; mwpf;ifapy; vJ/vit rupahdJ? 
1. gk;gha; gpurpnld;rpapd; Kjy; murpay; epWtd mikg;G ghk;Ng 

mNrhrpNa~d;. 
2. nkl;uh]; gpurpnld;rpapd; Kjy; mikg;G nkl;uh]; kfh[d rgh 
3. Nkhp fhh;ngz;lh; ,uh[huhk; Nkhfd;uhapd; MNyhridapd;gb G+dh rh;t[dpf; 

rghit epWtpdhh; 
nfhLf;fg;gl;l tpUg;gq;fspypUe;J rupahd tpUg;gj;ij Nju;T nra;f: 
a. 1 kl;LNk   b. 1 kw;Wk; 2 kl;LNk c. 2 kw;Wk; 3 kl;LNk 
d. 1> 2 kw;Wk; 3 ,it %d;Wk; e. tpil njupatpy;iy 

 
100. The concept of “The Safety – Valve theory’ of Indian National Congress 

originated from 
a. W.C. Bonnerji  b. William Wedderburn  c. Lord Dufferin 
d. C. F Andrews  e. Answer not Known  
,e;jpa Njrpa fhq;fpu]pd; ‘ghJfhg;G thy;T Nfhl;ghL’ vd;w fUj;J vq;fpUe;J 
cUthdJ? 
a. lgps;A+ rp. ghdh;[p b. tpy;ypak; ntlh;gh;d;  c. lg;hpd; gpuG 
d. rp. v/g; Mz;l;&]; e.  tpil njhpatpy;iy 

 
101. Arrange the following events in chronological order 

(i) British India society was founded by Dadabhai Naoroji 
(ii) Dadabhai Naoroji was elected to the British House of Commons 
(iii) President of the 22nd Calcutta Congress session 
(iv) President of the 9th Lahore Congress session 
a. (iii), (ii), (i), (iv)  b. (i), (iii), (iv), (ii)   c. (ii), (iii),(i), (iv)  
d. (i), (ii), (iv), (iii)  e. Answer not known 
gpd;tUtdtw;iw fhytud;Kiwg;gLj;Jf. 
(i) jhjhgha; nesNuh[p gphpl;b~; ,e;jpa rq;fj;ij epWtpdhh; 

(ii)jhjhgha; nesNuh[p gphpl;b~; `T]; M/g; fhkd;]Pf;F Njh;e;njLf;fg; gl;lhh; 
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(iii) nfhy;fj;jhtpy; ele;j 22 tJ fhq;fpu]; khehl;bd; jiyth; 

(iv) yh$hpy; ele;j 9 tJ fhq;fpu]; khehl;bd; jiyth; 

a. (iii), (ii), (i), (iv)  b. (i), (iii), (iv), (ii)   c. (ii), (iii),(i), (iv)  
d. (i), (ii), (iv), (iii)  e. tpil njhpatpy;iy 

 
102. Consider the following events: 

In 1885, Indian National Congress was established with the objectives  
1. To promote Indian Nationalism 
2. To establish a closer relation between India and England 
3. To remove unjust and harmful laws. 
4. To remove the discontent among the educated classes 
Which of the following is correct?  
a. 2 and 3 only  b. 1, 2 and 3 only  c. 1, 2 and 4 only  
d. All of these  e. Answer not known 
fPNo $wg;gl;Ls;stw;iw ftdpf;fTk;: 
1885k; Mz;L ,e;jpa Njrpa fhq;fpu]; rpy Fwpf;NfhSld; Vw;gLj;jg;gl;lJ. 
1. ,e;jpa Njrpaj;ij gug;Gjy; 
2. ,e;jpahTf;Fk; ,q;fpyhe;jpw;Fk; ,ilNa neUq;fpd njhlh;ig Vw;gLj;jpf; 

nfhs;Sjy; 
3. Neh;kiwahd> Jd;GWj;jf;$ba rl;lj;ij ePf;Fjy; 
4. fy;tp fw;w kf;fspilNa mjpUg;jpiaf; fisjy; 
NkNy $wg;gl;Ls;s $w;Wfspy; vit rhpahdit? 
a. 2 kw;Wk; 3 kl;Lk;  b. 1, 2 kw;Wk; 3 kl;Lk; c. 1, 2 kw;Wk; 4 kl;Lk; 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
103. With whom can we associated the following quotes? 

“Be Educated, Be organised and Be Agitated” 
“I like the religion that teaches liberty, equality and fraternity” 
“Life should be greater rather than long” 
a. Dr. Babasaheb Ambedkar  b. Thanthai Periyar 
c. Karl Marx     d. Mahatma Gandhi   
e. Answer not known 
fPo;f;fhZk; vtUld; - ,e;j Nkw;Nfhs;fis njhlh;GgLj;jyhk;? 
“fy;tpawpT ngW> mikg;ghf xd;W jpus;> fpsh;e;njL” 
“ehd; tpUk;Gk; kjkhdJ Rje;jpuk;> rkj;Jtk;> rNfhjuj;Jtk; Mfpatw;iw 
Nghjpf;Fk;” 
“tho;f;if vd;gJ cahpajhf ,Uf;f Ntz;LNk jtpu ePskhdjhf my;y” 
a. lhf;lh;. ghghrhfpg; mk;Ngj;fh;  b. je;ij nghpahh; 
c. fhh;y; khh;f;];    d. kfhj;kh fhe;jp   

e. tpil njhpatpy;iy 
 

104. Which one of the statement is incorrect regarding Gokhale? 
1. He started “Servants of Indian Society” in 1905 
2. He went in to South Africa and helped Gandhi in his movement against 

discrimination based on colour. 
3. Gandhi accepted Gokhale as ‘Political guru’ 
4. Gandhi described Gokhale as diamond of India, the Jewel of Maharastra and 

Prince of Workers. 



 

37 | PageAPPOLO STUDY CENTRE PH: 044 - 24339436, 42867555, 9840226187 

 

a. 1, 2, 3, 4 are correct 
b. 1, 2, 3 are correct only 4 is incorrect 
c. 1, 3, 4 are correct only 2 is incorrect 
d. 1, 2 are correct 3, 4 are incorrect 
e. Answer not known 
fPo;fz;l $w;Wfspy; NfhfNyia gw;wp jtwhd $w;W vJ? 
1. NfhfNy “,e;jpa gzpahsh; fofk;” vd;w mikg;ig 1905y; Vw;gLj;jpdhh; 
2. ,th; njd; Mg;gphpf;fhtpw;F nrd;W epwntwpia vjph;j;J fhe;jpAld; ,ize;J 

gzpahw;wpdhh;. 
3. fhe;jp NfhfNyia jdJ ‘murpay; FUthf’ Vw;Wf; nfhz;lhh;. 
4. fhe;jp NfhfNyit ,e;jpahtpd; ituk;> kfuh~;buhtpd; eif> 

njhopyhsh;fspd; ,sturd; vd;W th;zpj;jhh; 
a. 1> 2> 3> 4 $w;Wfs; rhpahdit 
b. 1> 2> 3 $w;Wfs; rhpahdit 4 $w;W jtwhdJ 
c. 1> 3> 4 $w;Wfs; rhpahdit 2 $w;W jtwhdJ 
d. 1> 2 $w;Wfs; rhpahdit 3> 4 $w;Wfs; jtwhdJ 
e. tpil njhpatpy;iy 

 
105. Which of the following statement is incorrect regarding Maulana Abul Kalam 

Azad? 
1. He was born in Calcutta 
2. He was the editor of the Magazine called ‘Lisan ul Sidiq’ 
3. He published a journal namely ‘Al hilal’ 
4. He was elected the president of the Indian National Congress in 1923 and 

1940 
a. 2, 3 are correct 1, 4 are incorrect  b. 1, 2, 3 are correct 4 only incorrect 
c. 1, 2, 3, 4 are correct   d. 2, 3, 4 are correct 1 is incorrect 
e. Answer not known 
fPo;fz;l $w;Wfspy; nksyhdh mGy;fyhk; Mrhj; gw;wpa jtwhd $w;W vJ? 
1. nksyhdh mGy;fyhk; Mrhj; fy;fj;jhtpy; gpwe;jhh;. 
2. ,th; ‘yprhd; cy; rpj;jpf;’ vd;w gj;jphpf;ifapd; gjpg;ghrphpah; Mthh;. 
3. ,th; my;fpyhy; vd;w ,jio ntspapl;lhu; 
4. ,th; ,e;jpa Njrpa fhq;fpu];f;F 1923 kw;Wk; 1940 Mk; Mz;Lfspy; 

jiytuhf Njh;e;njLf;g;gl;lhh;. 
a. 2> 3 $w;Wfs; rhpahdit 1> 4 jtwhdit 
b. 1> 2> 3 $w;Wfs; rhpahdit 4 tJ $w;W jtwhdJ 
c. 1> 2> 3> 4 $w;Wfs; rhpahdit 
d. 2> 3> 4 $w;Wfs; rhpahdit 1tJ $w;W jtwhdJ 
e. tpil njhpatpy;iy 

 

106. Which one of the statement is correct regarding the Subhas Chandra Bose? 
1. Bose joined the freedom struggle under the leadership of C.R. Das. 
2. 1921, he organised demonstration in Calcutta to protest against the visit of 

Prince of Wales. 
3. He boycotted the Simon Commission in 1927 
4. He served as the Secretary and President of Bengal Congress. 
a. 1, 2 are correct 3, 4 are incorrect  b. 1, 2, 3, 4 are correct 
c. 1, 2, 3 are correct 4 only incorrect d. 1, 3 are correct 2, 4 are incorrect 
e. Answer not known 
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fPo;fz;l $w;Wfspy; Rgh~; re;jpu Nghi] gw;wp rhpahd $w;W vJ? 
1. Rgh~; re;jpu Ngh];> rp.Mh;. jh]; jiyikapy; ,e;jpa tpLjiy 

Nghuhl;lj;jpy; ,ize;jhh;. 
2. 1921y; Nty;]; ,sturh; fy;fj;jhTf;F tUif Ghpe;j NghJ vjph;j;J 

Kof;fkpl;lhh; 
3. 1927y; irkd; fkp~id ,th; Gwf;fzpj;jhh; 
4. tq;fhs fhq;fpu]py; nrayhsuhfTk; jiytuhfTk; gjtp tfpj;jhh;. 
a. 1> 2 rhp 3> 4 jtwhdJ    

b. 1> 2> 3> 4 rhpahd $w;W 
c. 1> 2> 3 rhpahd $w;W 4 jtwhd $w;W 
d. 1> 3 rhpahd $w;W 2> 4 jtwhd $w;W 
e. tpil njhpatpy;iy 

 
107. From the following statements state which, statements are correct or incorrect 

Statement I : The Dandi March was to cover 295 kms from Gandhi’s Sabarmati 
Ashram to Dandi on the Gujarat Coast 
Statement II : Gandhi set out on the march and Reached Dandi on the 25th day 
(i.e) 6 April 1930 
a. Statement I and II are incorrect 
b. Statement I is correct but II is incorrect 
c. Both statement I and II are correct 
d. Statement I is incorrect, but II is correct 
e. Answer not known 
fPo;f;fz;l $w;Wfspy; vJ rhp> vJ jtW vd Fwpg;gplTk; 
$w;W I : fhe;jpabfspd; rgh;kjp Mrpukj;jpy; ,Ue;J F[uhj; flw;fiuNahuk; 
cs;s jz;b tiu 295 fpNyh kPl;lh; njhiyTf;F jz;bahj;jpiu eilngw 
,Ue;jJ 
$w;W  II  : fhe;jpabfs; ahj;jpiuahf ele;J jz;bia 25tJ ehspy;      
mjhtJ 1930 Vg;uy; 6 ,y; nrd;W mile;jhh; 
a. $w;W I $w;W II jtW 
b. $w;W I rhp Mdhy; $w;W II jtW 
c. $w;W I rhp $w;W II rhp 
d. $w;W I jtW Mdhy; $w;W II rhp 
e.  tpil njhpatpy;iy 

 

108. Assertion (A) : Jawaharlal Nehru’s regime is the golden period for the 
development of modern science 
Reason     (R) : Atomic research and space research were started during his 
administration 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
a. (A) is true, (R) is false. 
b. (A) is false, (R) is true.  
e. Answer not known 
$w;W  (A)  :  NeU Ml;rpf;fhyk; etPd mwptpay; tsh;r;rpapd; nghw;fhyk; 

MFk;. 
fhuzk; (R): mZ Muha;r;rp> tpz;ntsp Muha;r;rp Nghd;wit ,thpd; 

Ml;rpapd;NghNj cUthf;fg;gl;lit. 
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a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A)-tpw;F rhpahd tpsf;fk;. 

b. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd 
tpsf;fky;y. 

c. (A) rhp> Mdhy; (R) jtW. 
d. (A) jtW Mdhy; (R) rhp.  
e.  tpil njhpatpy;iy 

 

109. Who was acclaimed as the “Lokmanya”, due to his invaluable services to the 
Nation? 
a. Gopala Krishna Gokhale  b. Bala Gangadhar Tilak 
c. Sardar Vallabhai Patel  d. Lala Lajpat Rai   
e. Answer not known 
tpiykjpg;gw;w Nritfshy; ‘Nyhf;khdpa’ vd;W ghuhl;lg;gl;lth; ahh;? 
a. Nfhghy fpU~;z NfhfNy b. ghy fq;fhjh; jpyfh; 
c. rh;jhh; ty;ygha; gl;Nly;  d. yhyh y[;gj;uha;  
e. tpil njhpatpy;iy 
 

110. In which among the following is considered as the First Political Speech of 
Gandhiji? 
a. Banaras Hindu University Speech (BHU) 
b. Dandi March Speech 
c. First Round Table Conference Speech 
d. Quit India Speech 
e. Answer not known 
fPo;f;fhZk; nrhw;nghopTfspy; fhe;jpabfspd; Kjy; murpay; ciu vd 
Gfo;ngw;wJ vJ? 
a. gdhu]; ,e;J gy;fiyf; fofk; nrhw;nghopT 
b. jz;b ahj;jpiu nrhw;nghopT 
c. Kjy; tl;l Nki[ khehl;L nrhw;nghopT 
d. nts;isaNd ntspNaW ,af;f nrhw;nghopT 
e. tpil njhpatpy;iy 

 
111. Match List I (Party) with List II (Associate / Founder)   

List I      List II  
(Party)     (Founder / Associated with)  
A. Independent Labour Party  1. C. Rajagopalachari  
B. Bharathiya Jana Sangh   2. A.K. Gopalan 
C. Swatantra Party    3. B.R. Ambedhkar 
D. Communist Party   4. Deen Dayal Upadhyaya  

A B C D 
a. 1 2 3 4 
b. 3 4 1 2  
c. 4 3 1 2  
d. 3 4 2 1 
e. Answer not known 
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gl;bay; I k; (murpay; fl;rp) gl;bay; II (jiyth;) cld; xg;gPl;L> rhpahd 
tpilia Njh;T nra;aTk;. 
gl;bay; I     gl;bay; II  
(fl;rp)      (jiyth; / cWg;gpdh;)  

A. Rje;jpu ciog;ghsh; fl;rp  1. rp. uh[Nfhghyhr;rhhp  

B. ghujpa [d rq;fk;    2. V.Nf. Nfhghyd;  

C. Rje;jpuf; fl;rp    3. gp.Mh;. mk;Ngj;fh;  

D. fk;A+dp];l; fl;rp    4. jPd; jahy; cghj;aha;  

A B C D 
a. 1 2 3 4 
b. 3 4 1 2  
c. 4 3 1 2  
d. 3 4 2 1 
e. tpil njhpatpy;iy 

 
112. Who was considered as “The high Priest of Communism” by the Britist officials? 

a. E.M.S. Nambhoodripad b. M.N. Roy    
c. Jawaharla Nehru  d. Subhash Chandra Bose  
e. Answer not known   
gphpl;b~; mYtyh;fs; ahiu “fk;a+dprj;jpd; jiyik FU” vd;W mioj;jdh;? 
a. E.M.S. ek;g+jphp ghl; b. M.N. uha;   c. [t`h;yhy; NeU 

d. Rgh~; re;jpuNgh]; e. tpil njhpatpy;iy 
 

113. Assertion (A): V.O. Chidambaram established the Swadeshi Steam 
navigation company. 
Reason (R): He wanted to oppose the monopoly of the British in Navigation 
through the coast. 
a. (A) and (R) are true and (R) is the correct explanation of (A) 
b. (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is correct and (R) is wrong 
d. (A) is wrong and (R) is correct 
e. Answer not known 
$w;W (A): t.c. rpjk;guk; RNjrp fg;gy; epWtdj;ijj; njhlq;fpdhh;. 

fhuzk; (R): ,e;jpaf; flw;fiu thzpgj;jpy; Mq;fpNyah;fspd; Kw;Whpikia 
mth; vjph;j;jhh;. 
a. $w;W (A) kw;Wk; fhuzk; (R) rhp> fhuzk; (R)> (A) $w;iw tpsf;FfpwJ. 
b. (A) $w;W kw;Wk; (R) fhuzk; rhp> Mdhy; (R) fhuzk; (A) $w;iw 

tpsf;ftpy;iy. 
c. (A) $w;W rhp> (R) fhuzk; jtW 
d. (A) $w;W jtW> (R) fhuzk; rhp 
e. tpil njhpatpy;iy 

 

  



 

41 | PageAPPOLO STUDY CENTRE PH: 044 - 24339436, 42867555, 9840226187 

 

114. Arrange the following Newspaper’s and Journals of Thanthai Periyar in 
Chronological order.  
1. Paguththnrivu  2. Viduthalai   3. Kudiarasu   4. Puratchi 
a. 4, 2, 3, 1  b. 3, 4, 1, 2   c. 3, 2, 4. 1  
d. 2, 3, 1, 4  e. Answer not known 
fPo;f;fz;tw;Ws; je;ij nghpahhpd; nra;jpj;jhs;fisAk;>  ,jo;fisAk; fhy 
Kiwg;gb thpirg;gLj;Jf. 
1. gFj;jwpT   2. tpLjiy   3. FbauR  4. Gul;rp  
a. 4, 2, 3, 1  b. 3, 4, 1, 2   c. 3, 2, 4. 1   
d. 2, 3, 1, 4  e. tpil njhpatpy;iy  

 
115. Read the following passage and answer the item that follow. Your answer to 

this item should be based on the passage only. 
Passage 
The creation of the Swadeshi Steam Navigation Company marked a spectacular 
development in the history of the freedom movement. Eager to revive the naval 
tradition of the Tamils to provide practical training in ship building to the 
people and determined to challenge the British Monopoly of maritime traffic, 
V.O. Chidambaram announced his decision in 1906 at Shiyali to created a 
Navigation Company. 
Which one of the following is best implied in the passage? 
a. The steam Navigation Company earned a good income in those days which 

marked an impressive development. 
b. The creation of Swadeshi Steam Navigation Company stopped the British 

Monopoly of Maritime Trade. 
c. V.O. Chidambaram was dependent on taking any decision with regard to 

Navigation Company affairs. 
d. The restoration of Tamils knowledge in the Naval tradition was the objective 

of the creation of Navigation Company. 
e. Answer not known 
gpd;tUk; gj;jpiag; gbj;J gpd;tUk; tpdhtpw;F gjpyspf;fTk;. ,e;j gFjpf;fhd 
cq;fs; gjpy; gj;jpapd; mbg;gilapy; kl;LNk ,Uf;f Ntz;Lk;. 
gj;jp 
RNjrp ];Bk; NetpNf~d; epWtdj;jpd; cUthf;fk; Rje;jpu ,af;fj;jpd; 
tuyhw;wpy; xU mw;Gjkhd tsh;r;rpiaf; Fwpj;jJ. jkpoh;fspd; fg;gy; fl;Lk; 
ghuk;ghpaj;ij kPl;nlLf;Fk; Mh;tj;jpy; kf;fSf;Ff; fg;gy; fl;Ltjpy; eilKiwg; 
gapw;rp mspf;fTk;. fly; Nghf;Ftuj;jpy; gphpl;b~; VfNghfj;jpw;F rthy; tpLtjpy; 
cWjpahfTk; t.c.rpjk;guk; 1906,y; ~pahypapy; xU NetpNf~d; epWtdj;ij 
cUthf;Ftjw;fhd jdJ Kbit mwptpj;jhh;. 
gpd;tUtdtw;wpy; vJ gj;jpapy; rpwg;ghff; Fwpg;gplg;gLfpwJ? 
a. ];Bk; NetpNf~d; epWtdk; me;j ehl;fspy; ey;y tUkhdj;ij <l;baJ. ,J 

xU <h;f;ff;$ba tsh;r;rpiaf; Fwpj;jJ. 
b. RNjrp ];Bk; NetpNf~d; fk;ngdpapd; cUthf;fk; fly; tzpfj;jpy; gphpl;b~; 

VfNghfj;ij epWj;jpaJ. 
c. t. c. rpjk;guk; NetpNf~d; epWtd tptfhuq;fs; njhlh;ghf ve;j KbitAk; 

vLg;gjpy; kw;wth;fisr; rhh;e;jpUe;jhh;. 
d. fg;gy; fl;Lk; ghuk;ghpaj;jpy; jkpoh;fspd; mwpit kPl;nlLg;gJ NetpNf~d; 

epWtdj;ij cUthf;fpajd; Nehf;fkhFk;. 
e. tpil njhpatpy;iy 
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116. Find the difference between simple interest and compound interest on Rs. 1,200 
for one year at 10% per annum reckoned half-yearly. 
a. Rs. 2.50 b. Rs. 3 c. Rs. 3.75 d. Rs. 4 e. Answer not known 
Mz;Lf;F 10% tl;b tPjk; Xh; Mz;Lf;F &. 1>200 f;F tl;b miu Mz;bw;F xU 
Kiw fzf;fpl;lhy; jdptl;bf;Fk;> $l;L tl;bf;Fk; cs;s tpj;jpahrk; fhz;. 
a. &. 2.50 b. &. 3  c. &. 3.75 d. &. 4  e. tpil njhpatpy;iy 

 
117. Stephen invested Rs. 10,000 in a savings bank account that earned 2% simple 

interest. Find the interest earned if the amount was kept in the bank for 4 years. 
a. Rs. 200 b. Rs. 800 c. Rs. 500 d. Rs. 1,000 e. Answer not known 
];Bgd; vd;gth; jdJ tq;fpapd; Nrkpg;Gf; fzf;fpy; &. 10>000 I 2% jdptl;b 
tPjj;jpy; KjyPL nra;jhh; vdpy;> 4 Mz;Lfspd; Kbtpy; mth; ngWk; jdptl;b 
vt;tsT? 
a. &. 200 b. &. 800 c. &. 500 d. &. 1,000 e. tpil njhpatpy;iy 

 

118. The difference between the compound interest and simple interest accrued on 
an amount of ì18,000 in two years is ì 405. Then the rate of interest per annum is  
a. 12%  b. 15%  c. 18%  d. 10%  e. Answer not known  
,U tUlq;fspy; ì18,000 kPjhd $l;L tl;b> jdptl;b Mfpatw;wpd; tpj;jpahrk; 

ì405 vdpy; tUltl;b tPjk;  
a. 12%  b. 15%  c. 18%  d. 10%  e. tpil njhpatpy;iy  

 
119. Find the rate of interest if the difference between C.I and S.I on ì 8,000 

compounded annually for 2 years is ì 20.  
a. 5%  b. 10%  c. 15%  d. 20%  e. Answer not known  
ì 8,000 f;F ,uz;L Mz;LfSf;F fpilf;Fk; $l;L tl;bf;Fk;> jdp tl;bf;Fk; 

,ilNa cs;s tpj;jpahrk; ì20 vdpy; tl;b tPjk; fhz;f.  
a. 5%  b. 10%  c. 15%  d. 20%   e. tpil njhpatpy;iy  

 

120. Find the principal on amount ì 11,800 at 6% per annum for 3 years being simple 
interest annually. 
a. ì 8,000 b. ì 9,000 c. ì 10,000 d. ì 9,500  e. Answer not known 
%d;whz;Lfspy; 6% jdptl;b tPjk; nkhj;j njhif ì11,800 mspf;Fk; mriyf; 
fhz;f.  
a. ì 8,000 b. ì 9,000 c. ì 10,000 d. ì 9,500  e. tpil njhpatpy;iy  

 

121. Which of the following statements about Bhagat Singh are true? 
i. In 1930, Bhagat Singh attacked the Chittagong armouries. 
ii. In 1929, Bhagat Singh and B.K. Dutt threw a smoke bomb inside the 

Central Legislative Assembly Hall. 
iii. In 1925, Bhagat Singh formed Hindustan Republican Army 
a. ii only   b. i and iii only   c. i and ii only 
c. ii and iii only  e. Answer not known 
fPo;f;fhZk; $w;Wfspy; gfj;rpq; njhlh;ghd rhpahd $w;iwf; fz;lwpf: 
i. 1930-,y; gfj;rpq; rpl;lfhq; MAjg; gilj;jsj;ij jhf;fpdhh; 

ii. 1929-,y; gfj;rpq; B.K. jj;Jld; ,ize;J kj;jpa rl;lg;Nguit kPJ Fz;L 
tPrpdhh;. 

iii. 1925-Mk; Mz;L gfj;rpq; ,e;J];jhd; FbauRg; gilia epWtpdhh;. 
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a. (ii) kl;Lk; rhp   b. (i) kw;Wk; (iii) kl;Lk; rhp 
c. (i) kw;Wk; (ii) kl;Lk; rhp  d. (ii) kw;Wk; (iii) kl;Lk; rhp  
e. tpil njhpatpy;iy 

 
122. Choose the correct statements: 

1. Bharathi edited a Tamil weekly ‘India’. which became the voice of the 
moderates. 

2. Bharathi participated the Surat session of Congress in 1907. 
3. Chakravartini, Swadesamitran Newspapers was edited by Bharathi. 
4. G. Subramaniya Iyer Published Newspaper The Hindu. 
a. 1 and 2 only correct b. 1, 2 and 3 only correct c. 2 and 3 only correct 
d. 2, 3 and 4 only correct e. Answer not known 
rhpahd $w;Wf;fisf; fz;lwpf. 
1. ghujpapd; ‘,e;jpah’ thu ,jo; kpjthj Njrpathjpfspd; Fuyhfj; jpfo;e;jJ. 
2. 1907-,y; #uj; fhq;fpu]; khehl;by; ghujp fye;Jnfhz;lhh;. 
3. rf;uth;j;jpdp> RNjrkpj;ud; Nghd;w gj;jphpiffspy; ghujp gzpahw;wpdhh;. 
4. jp ,e;J gj;jphpf;ifia ntspapl;lth; G. Rg;ukzpa Iah;. 
a. 1 kw;Wk; 2 kl;Lk; rhp  b. 1> 2 kw;Wk; 3 kl;Lk; rhp   

c. 2 kw;Wk; 3 kl;Lk; rhp  d. 2> 3 kw;Wk; 4 kl;Lk; rhp  
e. tpil njhpatpy;iy 

 
123. Which of the following pair is/are not correctly matched? 

1. Champaran Satyagraha  - 1917 
2. Kheda Satyagraha  - 1927 
3. Ahmedabad Mill Strike  - 1918 
4. Rowlatt Act Satyagraha  - 1919 
a. Only 1    b. Both 2 and 3   c. Only 2 
d. Both 2 and 4   e. Answer not known 
gpd;tUgtw;Ws; nghUe;jhj N[hb vJ? 
1. rhk;guhz; rj;jpahfpufk;   - 1917 
2. Nfjh rj;jpahfpufk;   - 1927 
3. mfkjhghj; kpy; NtiyepWj;jk;  - 1918 
4. uTyl; rl;l rj;jpahfpufk;  - 1919 
a. 1 kl;Lk;    b. 2 kw;Wk; 3 ,uz;Lk;  c. 2 kl;Lk; 
d. 2 kw;Wk; 4 ,it ,uz;Lk; e. tpil njhpatpy;iy 

 
124. Name the editor of a Tamil weekly “Viveka Banu” 

a. V.O. Chidambaram  b. Kavimani Desiya Vinayakam  
c. Maraimalai Adigal  d. Subramania Bharathi 
e. Answer not known 
‘tpNtfh ghD’ vd;w jkpo; thu ,jopd; gjpg;ghrpupau; ________ 
a. t.c. rpjk;guk;   b. ftpkzp Njrpa tpehafk; 

c. kiwkiy mbfs;  d. Rg;ukzpa ghujpahu; 

e. tpil njupatpy;iy 
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125. Arrange the following Events in Chronological order 
1. Navajawan Bharat Sabha 
2. Bhagat Singh joined Hindustan Socialist Republican Association 
3. Bhagat Singh hanged in Lahore Jail 
4. Bhagat Singh and B.K. Dutt thrown bomb in the Legislative Assembly Hall 
a. 1,3,4,2   b. 2,1,4,3    c. 3,1,4,2  
d. 4,3,2,1   e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;iw fhy thpirg;gLj;Jf.  
1. et[thd; ghuj; rgh 
2. ,e;J];jhd; Nrh~paypr FbauR mikg;gpy; gfj;rpq; Nrh;e;jhh;. 
3. gfj;rpq; yh$h; rpiwapy; J}f;fpyplg;gl;lhh;. 
4. gfj;rpq;Fk; gp.nf.jj;Jk; kj;jpa rl;lkd;wj;jpd; kPJ Fz;L tPrpdhh;fs;. 
a. 1,3,4,2   b. 2,1,4,3    c. 3,1,4,2  
d. 4,3,2,1   e. tpil njhpatpy;iy. 

 

126. Choose the correct statement: 
I. Periyar EV Ramasamy was the founder of the Self-Respect Movement. 
II. People hailed him as ‘Vaikom Veerar” (Hero of VaiKom). 
III. He frequently wrote columns in the magazine under the ‘pen name’ 

“Chitra Puttiran”.  
IV. He also supported B.R. Ambedkar’s demand for separate electorates to 

scheduled castes. 
a. I and IV are correct  b. II and III are correct 
c. I, II and IV are correct  d. II is correct   
e. Answer not known 
rupahd $w;iwj; Nju;T nra;f. 
I. ngupahu; <.nt. ,uhkrhkp Ra khpahij ,af;fj;ijj; Njhw;Wtpj;jhu; 
II. kf;fs; mtiu ‘itf;fk; tPuh;’ vd ghuhl;bdu; 
III. ngupahu; ‘rpj;jpu Gj;jpud;’ vDk; Gid ngaupy; fl;Liufis vOjpdhu; 
IV. B.R. mk;Ngj;fhh; mth;fspd; xLf;fg;gl;l kf;fSf;fhd jdpj;Nju;jy; 

njhFjpf; Nfhupf;ifia ngupahUk; Mjupj;jhu; 
a. I kw;Wk; IV rup  b. II kw;Wk; III rup   

c. I> II kw;Wk; IV rup d. II rup   e. tpil njupatpy;iy  
 

127. Assertion (A): B.R Ambedkar launched Mahad Satyagraha 
Reason (R): He wanted to Unite Hindus and Muslims 
a. (A) and R are correct (R) explains (A) 
b. (A) and R are correct (R) does not explain A 
c. (A) is correct (R) is wrong 
d. (A) is wrong (R) is correct 
e. Answer not known 
$w;W (A):  gp.Mh;. mk;Ngj;fh; k`j; rj;jpahfpufj;ijj; njhlq;fpdhh;. 

fhuzk; (R): ,th; ,e;Jf;fs; kw;Wk; K];yPk;fis xUq;fpizf;f Kad;whh;. 

a. (A) kw;Wk; (R) fhuzk; $w;W rhp (R) fhuzk; $w;iw tpsf;FfpwJ. 

b. (A) $w;W kw;Wk; (R) fhuzk; rhp (R) fhuzk; $w;iw tpsf;ftpy;iy 
c. (A) $w;W rhp (R) fhuzk; jtW 
d. (A) $w;W jtW (R) fhuzk; rhp 
e. tpil njhpatpy;iy 
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128. Match List I with List II and select the correct answer using the codes given 

below: 
List I    List II 
A. Vinoba Bhave  1. Police Action 
B. Nethaji   2. Noakhali 
C. Nizam of Hyderabad 3. Satyagrahi 
D. Gandhiji   4. Azad Hind Fauj 

A B C D 
a. 3 4 1 2 
b. 1 4 3 2 
c. 4 3 2 1 
d. 2 1 4 3 
e. Answer not known 
gpd;tUk; gl;bay; I-I gl;bay; II cld; nghUj;Jf 

gl;bay; I    gl;bay; II 
A. tpNdhgh ghNt  1. Nghyp]; eltbf;if 

B. Nejh[p   2. ehtfhsp 

C. Ijuhghj; ep]hk;  3. rj;jpahfpufp 

D. fhe;jp[p   4. Mrhj; ,e;J gh[; 

A B C D 
a. 3 4 1 2 
b. 1 4 3 2 
c. 4 3 2 1 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 
129. The famous Patriotic song “Sare Jahanse Acha” was composed by _____. 

a. Mohammed Iqbal  b. Nehru    c. Tagore 
d. Syed Ali   e. Answer not known  
“rhNu [`hq;Nr mr;rh’ vd;w Gfo; ngw;w Njrg;gw;W ghliy njhFj;jth; 
a. KfkJ ,f;ghy;  b. NeU    c. jh$h; 
d. iraJ myp  e. tpil njhpatpy;iy 

 
130. Which of the following statement(s) is/are true? 

i. Mahakavi Bharathiar was a pioneer of modern Tamil poetry and is 
considered one of the greatest tamil literacy figures of all time 

ii. Bharathiar was the forerunner of ferocious kind of drama that combined 
classical and contemporary elements. 

a. (i) only    b. (ii) only   c. Both (i) and (ii) 
d. None of the above  e. Answer not known 
gpd;tUk; thf;fpak; (thf;fpaq;fspy;) vit rhpahdit? 
i. kfhftp ghujpahh; etPd jkpo;f; ftpijapd; Kd;Ndhb kw;Wk; tuyhw;wpd; 

rpwe;j jkpo; ,yf;fpathjpfspy; xUtuhff; fUjg;gLfpwhh;. 
ii. ghuk;ghpa kw;Wk; rkfhy $Wfis ,izj;j xU typikahd ehlfj;jpd; 

Kd;Ndhb ghujpahh; Mthh;. 
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a. (i) kl;Lk;    b. (ii) kl;Lk;  c. (i) kw;Wk; (ii) kl;Lk; 
d. Nkw;fz;l vitAkpy;iy  e. tpil njhpatpy;iy 

 
131. “In a sense Akbar might be considered to be the Father of Indian Nationalism. 

At that time when there was little nationality in the country and religion was a 
dividing Factor. Akbar placed the ideal of a Common Indian nationhood above 
the claims of separatist religion”. 
Who said the above statement? 
a. Jawaharlal Nehru  b. Motilal Nehru  c. Mahatma Gandhi 
d. Subash Chandra Bose e. Answer not known 
“Muha;e;J ghh;j;jhy;> mf;giu ,e;jpa Njrpaj;jpd; je;ijahff; fUj Ntz;Lk;. 
mtUila fhyj;jpy; Njrg;gw;W FiwthfTk;> kjk; ehl;ilg; gpsTgLj;Jk; 
rf;jpahfTk; ,Ue;jJ. mf;gh; kjg; gphptpidthjq;fisf; fisj;J> me;j 
,lj;jpy; ,e;jpa Njrpak; vd;w Kd;Ndhbahd nghJ kdg;ghd;ikia 
Kd;itj;jhh;” vd;W $wpath; ahh;? 
a. [t`h;yhy; NeU  b. Nkhjpyhy; NeU  c. kfhj;kh fhe;jp 
d. Rgh~; re;jpu Ngh]; e. tpil njhpatpy;iy 

 
132. What is the name of Bhagat Singh’s Mother? 

a. Lilavati    b. Vidyavati   c. Bhuvaneswari 
d. Lakshmi Kaur   e. Answer not known 
gfj;rpq;fpd; jhahh; ngah; 
a. yPyhtjp   b. tpj;ahtjp   c. GtNd];thp 

d. yl;Rkp fTh;  e. tpil njhpatpy;iy 
 

133. Choose the ones that are correctly matched: 
1. Narayan    -  Chittaranjan Das 
2. Unhappy India   - Annie Besant 
3. Common wheel   - Lala Lajpat Rai 
4. Abhyudaya   - Pt. Madan Mohan Malaviya 
a. 1 and 2 are correct b. 2 and 3 are correct c. 1 and 4 are correct 
d. 2 and 4 are correct e. Answer not known 
rhpahf nghUe;jpAs;stw;iwj; Njh;e;njL: 
1. ehuaz;   - rpj;juQ;rd; jh]; 
2. md; N`g;gp ,e;jpah - Mrs. md;dpngrd;l; 
3. fhkd; tPy;   - yhyh y[gjp uha; 
4. mgpAjah   - gz;bl; kjd; Nkhfd; khstpah 
a. 1kw;Wk; 2 rhpahdit  b. 2 kw;Wk; 3 rhpahdit   

c. 1 kw;Wk; 4 rhpahdit  d. 2 kw;Wk; 4 rhpahdit   

e. tpil njhpatpy;iy 
 

134. Which among the following journal published the interview of Gandhiji on the 
popular historical event “Gandhi Jinnah Talks” that made a serious impact on 
society? 
a. News Chronicle of Londonon in 1944 
b. Indian Mirror, 1944 
c. Bengal Gazatte, 1943 
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d. Commonweal, 1942 
e. Answer not known 
r%fj;jpy; fLikahd jhf;fj;ij Vw;gLj;jpa tuyhw;W epfo;thd “fhe;jp [pd;dh 
Ngr;Rthh;j;ij” gw;wpa fhe;jpapd; Neh;fhziy gpd;tUk; ve;j gj;jphpf;if 
ntspapl;lJ? 
a. epA+]; FNuhdpf;fy;> yz;ld;> 1944 

b. ,e;jpad; kph;uh;> 1944 
c. ngq;fhy; nfrl;> 1943 
d. fhkd;tPy;> 1942 
e. tpil njhpatpy;iy 

 
135. Consider the following 

(i) When the general elections were held in February 1937, Jawaharlal Nehru 
made a whirlwind tour of the country and carried everywhere the 
message of the Congress. 

(ii) But the success of the Congress in the elections was very much due to the 
efforts of Gandhiji. 

Which of the above statement/s is/are true? 
a. (i) only   b. (ii) only  c. (i) and (ii) only 
d. None of the above e. Answer not known 
 
gpd;tUtdtw;iw Ma;f 
(i) gpg;uthp 1937 ,y; nghJj; Njh;jy; ele;jNghJ> [t`h;yhy; NeU ehL 
KOtJk; xU #whtspr; Rw;Wg;gazk; nra;J fhq;fpu]pd; nra;jpia vq;Fk; 
nfhz;L nrd;whh;. 
(ii) ,Ug;gpDk; Njh;jypy; fhq;fpu]pd; ntw;wpf;F fhe;jp[papd; Kaw;rpNa fhuzk; 

NkNy fhzg;gLk; $w;Wfspy; rhpahdJ/it vJ/vit? 
a. (i) kl;Lk;    b. (ii) kl;Lk;  c. (i) kw;Wk; (ii) kl;Lk; 
d. Nkw;fz;l vitAkpy;iy  e. tpil njhpatpy;iy 

 
136. Identify the Indian who secured fourth place in Indian Civil service exam in 

1920 but resigned before completing his probation 
a. Anandh Mohan Bose  b. Gopal Ganesh Agarkar  
c. Subash Chandra Bose  d. Chitaranjan Doss    
e. Answer not known 
fp.gp 1920-y; eilngw;w ,e;jpa Fbikg; gzpj; Njh;tpy; ehd;fhtjhf ,lk; 
gpbj;J gapw;rp fhyk; Kbg;gjw;F Kd;Ng me;j nghWg;ig ,uh[pdhkh nra;jtu;  
a. Mde;j; Nkhfd; Ngh];  b. Nfhghy; fNz~; mfhh;fh; 

c. Rgh~; re;jpu Ngh];  d. rpj;juQ;[d;jh]; 

e. tpil njhpatpy;iy 
 

137. “A day will drawn when the Indians will have to follow the Maharashtrian way 
for the regaining of freedom. They will have to copy the example of Great 
Shivaji”. Who said it? 
a. Bal Gangadar Tilak b. C.R. Das  c. Subash Chandra Bose 
d. Chandra Shekhar Azad e. Answer not known 
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“xU ehs; gpwf;Fk;> ,e;jpah;fs; jq;fs; Rje;jpuj;ij kPl;nlLf;f k`uh~;buh;fspd; 
topia Njh;e;njLg;gh;. mth;fs; tPu rpth[papd; topia gpd;gw;Wthh;fs;” vd;W 
$wpaJ ahh;? 
a. ghy fq;fhjh; jpyfh; b. C.R. jh];  c. Rgh~; re;jpu Ngh]; 

d. re;jpu Nrfh; Mrhjp e. tpil njhpatpy;iy 
 

138. Which of the following emerged as the hot bed of militant nationalism during 
the Swadeshi movement? 
(1) Punjab  (2) Bengal   (3) Maharashtra  (4) Tuticorin 
a. 1 alone correct  b. 1 and 4 are correct 
c. 2 alone correct  d. All are correct  e. Answer not known 
fPo;fz;ltw;Ws; vJ/vit RNjrp ,af;fj;jpd; NghJ jPtpu Njrpathjj;jpd; 
,aq;F jskhf cUntLj;jd? 
(1) gQ;rhg;  (2)tq;fhsk;  (3) kfhuh~;buk; (4) J}j;Jf;Fb 
a. 1 kl;Lk; rhp  b. 1 kw;Wk; 4 kl;Lk; rhp 
c. 2 kl;Lk; rhp  d. midj;Jk; rhpahdJ e. tpil njhpatpy;iy 

 
139. Which of the following statements on Vanchinathan are correct? 

i. He belonged to Travancore state of that time 
ii. He was employed as a forest guard at Punalur 

iii. He was one of the members of Bharata Mata Association 
iv. He was trained in the use of Revolver by Subramania Siva at Pondicherry 
a. i, iii and iv are correct  b. i, ii and iii are correct 
c. i, ii, iii and iv are correct  d. ii, iii and iv are correct  
e. Answer not known 
thQ;rpehjidg; gw;wpa gpd;tUk; $w;Wfspy; rhpahdtw;iw Njh;e;njLf;f. 

i. mth; mg;Nghija jpUtpjhq;$h; rk];jhdj;ijr; Nrh;e;jth; 
ii. mth; GdY}hpy; tdghJfhg;ghsuhf gzpahw;wpdhh; 

iii. ghuj khjh rq;fj;jpd; cWg;gpdh;  
iv. ghz;br;Nrhpapy; Rg;gpukzpa rpththy; Jg;ghf;fp RLk; gapw;rp ngw;wth; 

a. i, iii kw;Wk; iv rhp  b. i, ii kw;Wk; iii rhp 
c. i, ii, iii kw;Wk; iv rhp  d. ii, iii kw;Wk; iv rhp  e. tpil njhpatpy;iy 

 
140. Arrange the following events in chronological order: 

(i) Swadeshi Movement   (ii) Home Rule Movement 
(iii) Non-Cooperation Movement (iv) Civil Disobedience Movement 
a. (i), (ii), (iii), (iv)  b. (ii), (iii), (iv), (i)   c. (iii), (iv), (i), (ii)  
d. (iii), (ii), (i), (iv)  e. Answer not known 
gpd;tUk; epfo;Tfis fhyKiwg;gb gl;baypLf. 
(i) RNjrp ,af;fk;   (ii) jd;dhl;rp ,af;fk; 
(iii) xj;Jioahik ,af;fk;  (iv) rl;l kWg;G ,af;fk; 
a. (i), (ii), (iii), (iv)  b. (ii), (iii), (iv), (i)   c. (iii), (iv), (i), (ii)  
d. (iii), (ii), (i), (iv)  e. tpil njhpatpy;iy 
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141. With regard to the Rae Bareilly peasant movement, which of the following 
statements are true? 
1.The Rae Bareilly peasants were treated as serfs 
2.The non-cooperation movement provided impetus to the rebels 
3.It took place in the districts of Madhya Pradesh 
a.1 only   b. 2 only     c. 1 and 2 
d. 1, 2 and 3    e. Answer not known 
NugNuyp tptrhap ,af;fj;jpd; gb gpd;tUk; ve;j thf;fpaq;fs; cz;ikahdit?  
1. NugNuyp tptrhapfs; mbikfshf elj;jg;gl;ldh;.  
2. Gul;rpahsh;fSf;F xj;Jioahik ,af;fk; xU cj;Ntfj;ij mspj;jJ  
3. ,g;Gul;rp kj;jpa gpuNjr khtl;lq;fspy; ele;jJ 
a 1 kl;Lk;    b. 2 kl;Lk;   c. 1 kw;Wk; 2 kl;Lk; 
d. 1, 2 kw;Wk; 3   e. tpil njhpatpy;iy 

 
142. Assertion (A):The World-Wide Depression which set in late 1929 affected India. 

Reason (R): A very sharp fall in prices, particularly of agricultural 
commodities and by bringing about a major crisis in the entire export-oriented 
colonial economy. 
a. (A) is true (R) is false 
b. Both (A) and (R) are true and (R) is the correct explanation of (A) 
c. (A) is false, (R) is true 
d. Both (A) and (R) are true  but (R) is not the correct explanation of (A)  
e. Answer not known 
$w;W (A): 1929 ,d; gpw;gFjpapy; cUthd cyfshtpa ke;jepiy  
,e;jpahitAk; ghjpj;jJ. 
fhuzk; (R): tptrhag; nghUl;fspd; tpiyfspy; kpff; fLikahd tPo;r;rp 
Vw;gl;L xl;Lnkhj;j Vw;Wkjp rhh;e;j fhydpj;Jtg; nghUshjhuj;jpy; ngUk; 
neUf;fbiaf; nfhz;L te;jJ. 
a. (A) rhp> Mdhy; (R) jtW 
b. (A) kw;Wk; (R)Mfpa ,uz;Lk; rhp kw;Wk; (R) vd;gJ (A)- tpw;F rhpahd 

tpsf;fkhFk; 
c. (A) jtW> Mdhy; (R) rhp 
d. (A) kw;Wk; (R) Mfpa ,uz;Lk; rhp Mdhy; (R) vd;gJ (A)-tpw;F rhpahd 

tpsf;fky;y 
e. tpil njhpatpy;iy 

 
143. Who was the first woman to pay penalty for violation of salt laws during the 

Civil Disobedience Movement in Tamil Nadu? 
a. Rukmani Lakshmipathi  b. Muthulakshmi Ammaiyar 
c. Muvalur Ramamirthan  d. Annie Besant 
e. Answer not known 
jkpofj;jpy; rl;l kWg;G ,af;fj;jpd; NghJ cg;Gr; rl;lq;fis kPwpajw;fhf 
mguhjk; fl;ba Kjy; ngz;kzp ahh;? 
a. Uf;kzp yl;Rkpgjp  b. Kj;Jyl;Rkp mk;ikahh;   

c. %tY}u; ,uhkhkpu;jk;  d. md;dp ngrd;l; 

e. tpil njupatpy;iy 
 



 

50 | PageAPPOLO STUDY CENTRE PH: 044 - 24339436, 42867555, 9840226187 

 

144. ___________ hoisted the National Flag atop of Fort St. George on 26th January, 
1932. 
a. Tiruppur Kumaran  b. Arya (Bhashyam)  c. T.Prakasam 
d. K.Nageswara Rao  e. Answer not known 
1932 – Mk; Mz;L [dthp 26 -Mk; ehspy; Gdpj [hh;[; Nfhl;ilapd; cr;rpapy; 
Njrpaf; nfhbia Vw;wpath; __________ Mthh;. 

a. jpUg;G+h; Fkud;   b. Mhpah (gh~;ak;)  c. T. gpufhrk; 
d. K. ehNf];tu uht;  e. tpil njhpatpy;iy 

 
145. Assertion [A]:“Vande Mataram” was adopted as the slogan for. 

Reason [R]: It was adopted during the Swadeshi Movement in protest against 
partition of Bengal. 

a. [A] is true but [R] is false 
b. Both [A] and [R] are true, and [R] is the correct explanation of [A] 
c. [A] is false, [R] is true 
d. Both [A], [R] are true, but [R] is not the correct explanation of [A] 
e. Answer not known 

$w;W [A]: “te;Nj khjuk;” vd;gJ Nghuhl;lq;fSf;fhd Kof;fkhf 
Vw;Wf;nfhs;sg;gl;lJ 
tpsf;fk; [R]: tq;fhsg; gphptpidf;F vjpuhd RNjrp ,af;fj;jpd; NghJ 
Vw;Wf;nfhs;sg;gl;lJ. 
a. [A] rhp Mdhy; [R] jtW 
b. [A] kw;Wk; [R] rhp> vd;gJ [A]-tpd; rhpahd tpsf;fkhFk; 
c. [A] jtwhdJ> [R] rhpahdJ 
d. [A] kw;Wk; [R] rhpahdJ Mdhy; [R], [A]-tpd; rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 
146. “Acharya Vinobha Bhave, was selected as a first Sathyagrahi by Mahatma 

Gandhi” after he completed the speech on  
a. On 17th October 1939, when he was delivering speech in a village, near 

Lucknow. 
b. On 17th October 1940, when he was delivering speech in a village near 

Wardha 
c. On 17th October 1941, when he was delivering speech in a village near 

Gandhinagar 
d. On 17th September 1942, when he was delivering a speech in a village, 

near Kolkatta 
e. Answer not known 

_____y; eilngw;w $l;lj;jpy; ciuahw;wpa gpd; fhe;jpabfs; Mr;rhh;ah tpNdhgh 

ghNt mth;fis “Kjy; rj;jpahfpufp” vd Njh;e;njLj;jhh;. 
a. 1939-k; Mz;L mf;Nlhgh; 17k; Njjp yf;Ndhtpw;F mUfpy; cs;s xU 

fpuhkj;jpy;. 
b. 1940-k; Mz;L mf;Nlhgh; 17-k; Njjp thh;jhtpw;F mUfpy; cs;s xU 

fpuhkj;jpy;. 
c. 1941-k; Mz;L mf;Nlhgh; 17-k; Njjp fhe;jpefUf;F mUfpy; cs;s xU 

fpuhkj;jpy; 
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d. 1942-k; Mz;L nrg;lk;gh; 17-k; Njjp nfhy;fj;jhtpw;F mUfpy; cs;s xU 
fpuhkj;jpy; 

e. tpil njhpatpy;iy 
 

147. Which of the following statements is/are correct about the objectives of the All-
India Muslim League? 
(i) Immediate reforms should be introduced in Frontier provinces and 
Baluchistan 
(ii) To promote the interests and safeguard the political rights of the Muslims 
(iii) To promote against friendly feelings between the muslims and other 
communities in India to the extent possible 
(iv) To promote among Indian Muslim feelings of loyalty towards the British 
Government 
a. (i) and (ii) are correct  b. (ii) and (iv) are correct 
c. (i), (ii)(iii) are correct  d. (i) and (iv) are correct 
e. Answer not known 
midj;J ,e;jpa K];ypk; yPf; gw;wpa gpd;tUk; $w;Wfspy; vJ/vit 
rhpahdit? 
(i) vy;iyg;Gw khfhzq;fs; kw;Wk; gYrp];jhdpy; cldb rPh;jpUj;jq;fis 
mwpKfg;gLj;jg;gl Ntz;Lk; 
(ii) K];yPk;fspd; murpay; chpikfis ghJfhj;J Nkk;gLj;JtJ 

(iii) ,e;jpahtpy; cs;s K];yPk;fs; kw;Wk; gpw r%fq;fSf;F ,ilNaahd el;G 
czh;TfSf;F vjpuhf elj;jy; 
(iv) Mq;fpy murhq;fj;jpd; kPjhd tpRthd czh;Tfis ,e;jpa 
K];yPk;fspilNa Cf;Ftpj;jy; 
a. (i) kw;Wk; (ii) rhp  b. (ii) kw;Wk; (iv) rhp  c. (i), (ii) kw;Wk; (iii) rhp 
d. (i) kw;Wk; (iv) rhp   e. tpil njhpatpy;iy 

 
148. Arrange the following events in chronological order: 

1. Wavell plan 
2. Mountbatten plan 
3. Cabinet Mission plan  
4. Simla conference 
a. 3, 2, 1, 4   b. 4, 3, 2, 1    c. 1, 4, 3, 2 
d. 2, 4, 3, 1   e. Answer not known 
gpd;tUtk; epfo;Tfis fhythpirg;gb xOq;fikf;Tk;. 
1. Ntty; jpl;lk; 
2. nksz;l; Ngl;ld; jpl;lk; 
3. mikr;ruit J}Jf;FOj; jpl;lk; 
4. rpk;yh khehL 
a. 3, 2, 1, 4   b. 4, 3, 2, 1    c. 1, 4, 3, 2 
d. 2, 4, 3, 1   e. tpil njhpatpy;iy 

 
149. Assertion (A): Gandhiji opposed the ‘Communal Award’ of Ramsay Macdonald, 

Reason (R): Gandhi wanted to get Dominion status from the British in 1932 
a. Both (A) and (R) are correct but R is not the correct explanation 
b. (A) is wrong but (R) is correct  
c. (A) is correct but (R) is wrong 
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d. Both (A) and (R) are correct and (R) is the correct explanation 
e. Answer not known 
$w;W (A): uhk;Nr Nkf;Nlhdhy;l; toq;fpa tFg;Gthhp xJf;fPil fhe;jpabfs; 
vjph;j;jhh; 
fhuzk; (R): 1932,y; nlhkpdpad; me;j];ij Mq;fpNyah;fsplk; ,Ue;J ngw 
fhe;jp tpUk;gpdhh; 
a. $w;W (A)  kw;Wk; fhuzk; (R) ,uz;Lk; rhp Mdhy; fhuzk; R rhpahd 

tpsf;fky;y 
b. $w;W (A)  jtW Mdhy; fhuzk; (R) rhpahdJ 
c. $w;W (A)  rhp Mdhy; fhuzk; (R) jtwhdJ 
d. $w;W (A) kw;Wk; fhuzk; (R) ,uz;LNk rhp Mdhy; fhuzk; (R) rhpahd 

tpsf;fkhFk; 
e. tpil njhpatpy;iy 

 
150. Choose the right matches among the following: 

(i) Bhagat Singh – Reorganization of the Hindustan Socialist Republican 
Association (HSRA) 
(ii) Subash Chandra Bose – Give me blood, I will give you freedom 
(iii) Sisir Kumar – Founder of Indian National Army 
(iv) Sucheta Kripalani – Advisor to Non Cooperation Movement  
a. (i) and (iii) are correct   b. (i) and (ii) are correct  
c. (iii) and (iv) are correct   d. (ii) and (iv) are correct 
e. Answer not known 
gpd;tUtdtw;Wf;F ,ilNa rhpahd nghUj;jq;fisj; Njh;e;njLf;f 
(i) gfj; rpq; - ,e;J];jhd; FbauRf; fl;rpapd; kWrPuikg;G 

(ii) Rgh~; re;jpu Ngh]; - vdf;F ,uj;jk; nfhLq;fs; ehd; cq;fSf;F Rje;jpuk; 
jUfpNwd; 
(iii) rprph; Fkhh; - ,e;jpa Njrpa ,uhZtj;jpd; epWtdh; 

(iv) RNrjh fpUgshdp – xj;Jioahik ,af;fj;jpd; MNyhrfh; 

a. (i) kw;Wk; (iii) rhpahdit  b. (i) kw;Wk; (ii) rhpahdit 
c. (iii) kw;Wk; (iv) rhpahdit  d. (ii) kw;Wk; (iv) rhpahdit 
e. tpil njhpatpy;iy 

 

151. Which of the following is not related to Palani conspiracy? 
i. Rebels decided to attack Coimbatore  

ii. Colonel K. Macalister Launched an offensive attack 
iii. Khan-i-Jah Khan took the command of horses 
iv. The cavalry of Rani Lakshmibai took part in Palani conspiracy 
a. (iv) only   b. (i) and (ii) only   c. (ii) only 
d. (ii) and (iii) only  e. Answer not known 
fPo;fhz;gtw;Ws; godp rjpahNyhridNahL njhlh;gpy;yh epfo;T vJ? 
i. Gul;rpahsh;fs; Nfhak;Gj;J}iu jhf;f jPh;khdpj;jdh;. 

ii. fhh;dy; K. kfyp];lh; Nghh;g;gilj; jhf;Fjiyj; njhlq;fpdhh;. 
iii. fhd;-,-[hfhd; Fjpiug;gilf;F jiyikj; jhq;fpdhh; 
iv. godp rjpahNyhridapy; uhzp yl;Rkpghapd; Fjpiug; gil gq;F ngw;wJ. 
a. (iv) kl;Lk;   b. (i) kw;Wk; (ii) kl;Lk;  c. (ii) kl;Lk; 
d. (ii) kl;Lk; (iii) kl;Lk; e. tpil njhpatpy;iy 
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152. Regarding the changes of venue of the first session of the Indian National 
Congress from Poona to Bombay, which of the following statements is true. 

a. Poona was affected by the outbreak of Cholera 
b. Bombay had given necessary funds 
c. Bombay was a thickly populated region 
d. The British government suggested the venue 
e. Answer not known 

,e;jpa Njrpa fhq;fpu]pd; Kjy; khehL G+dhtpypUe;J gk;gha;f;F khw;wg;gl;lJ 
njhlh;ghf gpd;tUk; fhuzq;fspy; rhpahdJ vJ? 
a. G+dh fhyuh Nehapdhy; ghjpf;fg;gl;bUe;J 
b. gk;gha; Njitahd epjpAjtpaspj;jJ 
c. gk;gha;> kf;fs; njhif mjpfKs;s gFjpahf ,Ue;jJ 
d. gphpl;b~; murhq;fj;jpduhy;> mwpTWj;jg;gl;lJ 

e. tpil njhpatpy;iy 
 

153. Choose the right matches among the following types : 
Nana Sahib  - General Henry Havelock 
Rani Lakshmi Bai - Sir Huge Rose 
Tantia Tope  - General William 
Kunwar Singh - General Acton 
a. 1 and 3 are correct b. 1 and 2 are correct c. 1 and 4 are correct 
d. 2 and 4 are correct e. Answer not known 
gpd;tUtdtw;wpy; rhpahd nghUj;jj;ijj; Njh;e;njLf;fTk; : 
(1) ehdh rhfPg;  - n[duy; n`d;hp N`t;yhf; 
(2) uhzp yl;Rkpgha; - rh; `Pf; Nuh]; 
(3) jhe;jpah Njhg;Ng - n[duy; tpy;ypak; 
(4) Fd;th; rpq;  - n[duy; Mf;ld; 
a. 1 kw;Wk; 3 rhp  b. (1) kw;Wk; (2) rhp  c. 1 kw;Wk; 4 rhp 
d. 2 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 

 
154. Match the following: 

A. Chittagang Armoury Ride  1. M.N. Roy 
B. Kanpur Conspiracy case   2. Benjamin Bradley 
C. Lahore Conspiracy case   3. Kalpana Datta 
D. Meerut Conspiracy case   4. Bhagat Singh 
 A B C D 
a. 4 3 2 1 
b. 3 1 4 2 
c. 2 4 3 1 
d. 1 2 4 3  e. Answer not known 
gpd;tUtdtw;iw nghUj;Jf: 
A. rpl;lq; MAjg; giljhf;F  1. M.N. uha; 
B. fhd;G+h; rjp tof;F   2. ngQ;rkpd; g;uhl;yp 

C. yh$h; rjp tof;F   3. fy;gdh jj;jh 

D. kPul; rjp tof;F    4. gfj;rpq; 
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 A B C D 
a. 4 3 2 1 
b. 3 1 4 2 
c. 2 4 3 1 
d. 1 2 4 3  e. tpil njhpatpy;iy 

 
155. The Congress passed the ‘Quit India’ Resolution on 8th August, 1942 for the 

following reasons. 
i. Failure of the Cripps mission 

ii. Japanese forces moved towards India 
iii. Jinnah’s demand 
iv. To compel the British to accept the demand of Indian Independence 
v. To support the Soviet Union 

a. (i), (ii) and (iv) are correct b. (i), (ii), (iii) and (v) are correct 
c. (i), (ii), (iv) and (v) are correct d. All the above are correct 
e. Answer not known 
gpd;tUk; fhuzq;fSf;fhf 1942Mk; Mz;L Mf];l; 8 Mk; ehs; fhq;fpuR 
‘nts;isaNd ntspNaW’ jPh;khdj;ij ,aw;wpaJ. 

i. fphpg;]; J}Jf;FOtpd; Njhy;tpapdhy; 
ii. ,e;jpahit Nehf;fp [g;ghdpag; gilfs; Gwg;gl;ljdhy; 
iii. [pd;dhtpd; Nfhhpf;iff;fhf 
iv. Mq;fpNyah;fs; ,e;jpa tpLjiy Nfhhpf;ifia Vw;Wf; nfhs;s 

fl;lhag;gLj;Jtjw;fhf 
v. Nrhtpaj; A+dpaid Mjhpg;gj;wfhf 

a. (i), (ii) kw;Wk; (iv) rhp  b. (i), (ii), (iii) kw;Wk; (v)k; rhp 
c. (i), (ii), (iv) kw;Wk; (v) k; rhp d. NkNy $wpa midj;Jk; rhp 
e. tpil njhpatpy;iy 

 
156. Find the compound interest on Rs. 3,200 at 2.5% p.a. for 2 years, compounded 

annually. 
a. Rs. 132 b. Rs. 162 c. Rs. 165 d. Rs. 170 e. Answer not known 
&. 3>200f;F 2.5% Mz;L tl;bapy; Mz;Lf;nfhU Kiw tl;bf; fzf;fplg;gLk; 
Kiwapy; 2 Mz;LfSf;F> fpilf;Fk; $l;Ltl;biaf; fhz;f. 
a. &. 132 b. &. 162 c. &. 165 d. &. 170 e. tpil njhpatpy;iy 

 

157. The compound interest for principal = Rs. 5,000, r = 4%, n = 1
1

2
years, interest 

compounded half yearly is 
a. Rs. 305   b. Rs. 306.04   c. Rs. 306.5 
d. Rs.306.4   e. Answer not known 

mry; = 5,000, Mz;L tl;b tPjk; r = 4%, n = 1
1

2
 Mz;Lfs;> miu Mz;Lf;nfhU 

Kiw tl;b fzf;fplg;gLfpwJ vdpy; $l;L tl;b 
a. &. 305   b. &. 306.04   c. &. 306.5 
d. &. 306.4   e. tpil njhpatpy;iy 
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158. The number of correct answers given by X and Y in a quiz competition are in the 
ratio 10 : 11. If they had scored a total of 84 points, then the points obtained by Y 
is 
a. 40  b. 44  c. 46  d. 82  e. Answer not known 
xU tpdhb tpdh Nghl;bapy; X kw;Wk; Y toq;fpa rhpahd tpilfspd; 
vz;zpf;ifapd; tpfpjk; 10 : 11. mg;Nghl;bapy; mth;fs; nkhj;jkhf 84 Gs;spfs; 
ngw;wdh; vdpy;> Y ngw;w Gs;spfs; vj;jid? 
a. 40  b. 44  c. 46  d. 82  e. tpil njhpatpy;iy 

 
159. Satheesh Kumar borrowed Rs. 52,000 from a money lender at a particular rate of 

simple interest. After 4 years, he paid Rs. 79,040 to settle his debit. At what rate 
of interest he borrowed the money? 
a. 12%  b. 14%  c. 13%  d. 15%  e. Answer not known 
rjP~; Fkhh; vd;gth; xU fld; toq;F eghplkpUe;J &. 52>000 I xU Fwpg;gpl;l 
jdptl;b tPjj;jpy; fldhf ngWfpwhh;. 4 Mz;L fopj;J rjP~;Fkhh; 79>040 I 
nkhj;j njhifahf nrYj;jpdhh; vdpy; tl;b tPjk; fhz;f. 
a. 12%  b. 14%  c. 13%  d. 15%  e. tpil njhpatpy;iy 

 
160. What is the different in simple interest and compound interest on Rs. 15,000 for 

2 years at 6% p.a. compounded annually? 
a. Rs. 60 b. Rs. 54 c. Rs. 150 d. Rs. 50 e. Answer not known 
&. 15>000 f;F 6% Mz;L tl;bapy; Mz;Lf;nfhU Kiw tl;b fzf;fplg;gl;lhy; 
2 Mz;LfSf;F fpilf;Fk; jdptl;bf;Fk; $l;L tl;bf;Fk; ,ilNaAs;s 
tpj;jpahrk; vd;d? 
a. &. 60 b. &. 54 c. &. 150 d. &. 50 e. tpil njhpatpy;iy 

 

161. Which of the following statements are true about Khan Abdul Ghaffar Khan? 
1. Khan Abdul Ghaffar Khan was a Pasthun leader 
2. Khan Abdul Ghaffar Khan was known as Badshah Khan 
3. Khan Abdul Ghaffar Khan was popularly known as The Frontier Gandhi 
4. Khan Abdul Ghaffar Khan was the founder of Khudai Khidmatgars 
a. 1 and 2 are correct b. 4 and 1 are correct  
c. 3 and 2 are correct d. 1, 2, 3 and 4 are correct   
e. Answer not known 
gpd;tUgdtw;Ws; fhd; mg;Jy; fghh; fhd; gw;wpa cz;ikahd $w;Wfs; vit? 
1. fhd; mg;Jy; fghh; fhd; xU g];J}d; jiyth;. 
2. fhd; mg;Jy; fghh; fhd; ghl;~h fhd; vd;W miof;fg;gLfpwhh;. 
3. fhd; mg;Jy; fghh; fhd; vy;iyf; fhe;jp vd;W gpugykhf miof;fg;gLfpwhh; 
4. fhd; mg;Jy; fghh; fhd;> Fil fpl;khl;fhh;];i] epWtpath; 
a. 1 kw;Wk; 2 rhp   b. 4 kw;Wk; 1 rhp  c. 3 kw;Wk; 2 rhp 
d. 1> 2> 3 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 

 

162. The Swadeshi Steam Navigation Company was registered in the year  
a. October 2, 1906  b. October 16, 1906  c. November 2, 1908 
d. November 12, 1908 e. Answer not known 
RNjrp ePuhtpf; fg;gy; fk;ngdp gjpT nra;ag;gl;l ehs; 
a. mf;Nlhgh; 2> 1906  b. mf;Nlhgh; 16> 1906 c. etk;gh; 2> 1908 
d. etk;gh; 12> 1908  e. tpil njhpatpy;iy 
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163. Assertion (A): Gandhi who was resisting any effort to disect the Country had to 
accept the demand of the Muslim League for creation of Pakistan. 
Reason (R): While observing ‘Direct Action Day’ by Muslim League the rioting 
and killing that took place in Calcutta led to a terrible violence. 
a. (A) is correct and (R) explains (A)  
b. (A) is correct and (R) are wrong 
c. (A) is wrong and (R) correct 
d. (A) is correct and (R) does not explains (A) 
e. Answer not known  
$w;W (A): mJtiu ehl;ilg; gphptpid nra;Ak; Kaw;rpf;F vjpuhf ,Ue;j 
fhe;jpabfs; K];yPk; yPf;fpd; ghfp];jhd; Nfhhpfifia Vw;whh;. 
fhuzk; (R): K];yPk; yPf;fpd; ‘Neub eltbf;if ehspy; fy;fj;jhtpy; 

fytuq;fSk; nfhs;isfSk; ele;Njhpd’. 
a. $w;W (A) rhp fhuzk; (R) $w;iw tpsf;FfpwJ 
b. $w;W (A) rhp fhzk; (R) jtW 
c. $w;W (A) jtW fhuzk; (R) rhp 
d. $w;W (A) rhp Mdhy; fhuzk; (R) $w;iw tpsf;ftpy;iy 
e. tpil njhpatpy;iy 
 

164. Which of the following statement /s is / are true? 
Assertion [A]: The Aligarh Movement became communal under Sir Syed 
Ahmad Khan’s guidance, which helped in the creation of Pakistan. 
Reason    [R]: Sir Syed Ahmad Khan depended on the British for his activities 
and the British brought in Muslim communalism. 
a. [A] and [R] are true [R] is the correct explanation of [A] 
b. [A] is true, but [R]  is false 
c. [A] and [R] are true [R] is not the correct explanation of [A] 
d. [A] is false [R] is true 
e. Answer not known 
gpd;tUtdtw;Ws; vf; fUj;Jfs; rhp? 
$w;W (A): rh; iraJ mfkj; fhd; jiyikapd; fPo;  cUthd mypfhh; ,af;fk; 
tFg;Gthjj;ij cUthf;fp ghfp];jhd; cUthtjw;F cWJiz nra;jJ. 
fhuzk; (R): rh; iraj; mfkj; fhd; jd;Dila eltbf;iffSf;F gphpl;b~hiu 
rhh;e;J ,Ue;jhh;. gphpl;b~hh; K];yPk; tFg;Gthjj;ij nfhz;L te;jdh;. 
a. (A) kw;Wk; (R) rhp. kw;Wk;> (R) (A)f;fhd rhpahd tpsf;fk; 
b. (A)  rhp Mdhy; (R) jtW 
c. (A) kw;Wk; (R) rhp kw;Wk; (R) (A)f;fhd rhpahd tpsf;fky;y 
d. (A) jtW. Mdhy; (R) rhp 
e. tpil njhpatpy;iy. 

 

165. Find out the correct answer from the following 
i. Sir Syed Ahmed Khan, the founder of Aligarh movement, was initially 
supportive of the Congress 
ii. The Punjab Hindu Sabha founded in 1909 laid the foundation for Hindu 
Communal politics 
a. Statement i and ii are correct  b. Statement i correct ii is wrong 
c. Statement i wrong ii correct  d. Statement i and ii are wrong 
e. Answer not known 
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gpd;tUk; $w;WfspypUe;J rhpahdtw;iwj;; Njh;T nra;f. 
i. mypfhh; ,af;fj;ijj; Njhw;Wtpj;j rh; iraJ mfkJfhd; njhlf;fj;jpy; 
fhq;fpuir Mjhpj;jhh;. 
ii. 1909 ,y; Njhw;Wtpf;fg;gl;l gQ;rhg; ,e;J rigahdJ ,e;Jkj tFg;Gthj 
murpaYf;F mbj;jskpl;lJ 
a. $w;W i kw;Wk; ii rhp b. $w;W i rhp ii jtW c.$w;W i jtW ii rhp 
d. $w;W i kw;Wk; ii jtW e. tpil njhpatpy;iy 

 
166. “At the stroke of midnight hour when the world sleeps, India will awake to life 

and freedom..” said by 
a. Mahatma Gandhiji b. Jawaharlal Nehru  c. Bala Gangadhar Tilak 
d. Subhash Chandra Bose e. Answer not known 
cyfNk cwq;fpf;nfhz;bUf;Fk; ,e;j es;spuT Neuj;jpNy> ,e;jpah jd;Dila 
capNuhl;lj;NjhLk; kw;Wk; Rje;jpu czh;TlDk; tpopj;Jf;nfhs;fpwJ vd 
$wpath;. 
a. kfhj;kh fhe;jp  b. [t`h;yhy; NeU  c. ghy fq;fhju jpyfh; 
d. Rgh~; re;jpu Ngh]; e. tpil njhpatpy;iy 

 
167. The name ‘Pakistan’ or ‘Pak-stan’ was coined by a Punjab student at Cambridge, 

Who was he? 
a. Mohammed Ali Jinnah  b. Asaf Soukath Ali 
c. Choudhry Muhamad Ali d. Choudhry Rahmat Ali 
e. Answer not known 
‘ghfp];jhd;’ (m) ‘ghf; - ];jhd;’ vd;w ngaiu gQ;rhig rhh;e;j Nfk;gphpl;]; 
gy;fiyfof khzth; #l;bdhh;. mtUila ngah; 
a. Kfk;kJ myp [pd;dh  b. M]g; rTfj; myp  
c. nrsj;jphp Kfk;kJ myp  d. nrsj;jphp un`kj; myp  
e. tpil njhpatpy;iy 

 
168. It was at this state that the communalists declared that Muslims ‘Muslim 

culture’ and Islam and Hindus, ‘Hindu culture’ and Hinduism were in danger 
of being suppressed and exterminated. It was also at this stage that both the 
Muslim and Hindu Communalists put forward the theory that Muslims and 
Hindu constituted separate nations whose mutual antagonism was permanent 
and irresolvable. The Muslim League and the Hindu Mahasabha after 1937 and 
the Rashtriya Swayamsevak Sangh (RSS) increasingly veered towards extreme 
or Fascistic communalists. 
Which one of the following is best implied in the passage. 
a. Separate nations for Hindus and Muslims were felt 
b. The Muslim League; Hindu Mahasabha and the Rashtriya Swayamsevak 

Sangh were responsible for the extreme communalism 
c. Communalists of both groups suspected each other for the development of 

communism 
d. People of both religions realized that country and national welfare were 

greater than religion. 
e. Answer not known 
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,e;j epiyapy;jhd; K];ypk;fs; kw;Wk; K];yPk; fyhr;rhuk;> ,e;Jf;fs; ,e;J 
kjk; kw;Wk; ,e;J fyhr;rhuk; xLf;fg;gl;L mopf;fg;gLk; mghaj;jpy; ,Ug;gjhf 
tFg;Gthjpfs; mwptpj;jdh;. K];yPk; kw;Wk; ,e;J tFg;Gthjpfs; ,UtUk; 
gu];gu tpNuhjkhd> epue;jukhd kw;Wk; jPh;f;f Kbahj jdpj;jdp Njrq;fis 
mikj;jdh; vd;w Nfhl;ghl;il ,e;j fl;lj;jpd; jhd; Kd;itj;jdh;. 1937 f;Fg; 
gpwF K];yPk; yPf;> ,e;J kfhrgh kw;Wk; uh~;l;hpa ];tak; Nrtf; rq;fk; 
(Mh;.v];.v];) Mfpait jPtpu my;yJ ghrpr tFg;Gthjj;ij Nehf;fp ngUfpa 
Kiwapy; rha;e;jd. 
gpd;tUtdtw;wpy; vJ gj;jpapy; rpwg;ghff; Fwpg;gplg;gLfpwJ? 
a. ,e;Jf;fSf;Fk;> K];yPk;fSf;Fk; jdp Njrq;fs; czug;gl;ld. 
b. K];yPk; yPf;> ,e;J kfh rgh kw;Wk; uh~;l;hpa ];tak; Nrtf; rq;fk; 

Mfpait ghrpr tFg;Gthjj;jpw;F fhuzkhf ,Ue;jd. 
c. ,U FOf;fspd; tFg;GthjpfSk; fk;A+dprj;jpd; tsh;r;rpf;fhf 

xUtiunahUth; re;Njfpj;jdh;. 
d. kjj;ij tpl ehLk;> ehl;L eyDk; nghpaJ vd;gij ,U kjj;jpdUk; 

czh;e;jdh;. 
e. tpil njhpatpy;iy 

 
169. Assertion (A): Communal riots in India are more politically motivated 

than fuelled by religion. 
Reason (R): The architects and builders of communal tensions are the 
communalists and a certain group of politicians. 
a. (A) is true but (R) is false  b. (A) is false but (R) is true 
c. Both (A) and (R) are true   d. Both (A) and (R) are false 
e. Answer not known 
$w;W (A): ,e;jpahtpy; elf;Fk; tFg;Gf; fytuq;fs;> kjj;jhy; J}z;lg;gLtij 
tpl> murpay; cs; Nehf;fk; nfhz;lit. 
fhuzk; (R): tFg;Gthj gjl;lq;fis cUthf;Fgth;fs; kjthj tFg;G thjpfs; 
kw;Wk; xU Fwpg;gpl;l murpay; thjpfs;. 
a. (A) rhp Mdhy; (R) jtW  b. (A) jtW Mdhy; (R) rhp  

c. (A)> (R) ,uz;Lk; rhp   d. (A)> (R) ,uz;Lk; jtW  

e. tpil njhpatpy;iy 
 

170. Which party observed the ‘Black day’ on July 1947 against partition of India? 
a. Indian National Congress  b. Forward Bloc c. Hindu Mahasabha 
d. Communist Party   e. Answer not known 
ve;jf; fl;rp ,e;jpa gphptidf;F vjpuhf [_iy 1947k; Mz;il ‘fUg;G jpdkhf’ 
mwptpj;jJ? 
a. ,e;jpa Njrpa fhq;fpu];  b. ghh;th;l; gpshf; c. `pe;J kfh rig 

d. fk;A+dp];l; fl;rp   e. tpil njhpatpy;iy 
 

171. Regarding the partition of India, which of the following statements are true? 
1. The congress accepted the partition. 
2. Mountbatten put his plan for the partition of India on June 3rd 1947. 
3. The Act of 1947 provided for the creation of two independent dominions. 
a. 1 only   b. 2 only   c. Both 1 and 2 
d. 1, 2 and 3   e. Answer not known 
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,e;jpa gphptpidj; njhlh;ghf gpd;tUk; thf;fpaq;fspy; vit rhpahdit? 
1. gphptpidiaf; fhq;fpu]; mq;fPfhpj;jJ 
2. nksd;l;Ngl;ld; ,e;jpag; gphptpidj; jpl;lj;jpid [_d; 3> 1947y; tFj;jhh; 
3. 1947k; Mz;Lr; rl;lk; ,uz;L Rje;jpu Nlhkpdpad;fis cUthf;f top 

nra;jJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2  
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
172. Which one of the following statements is/are correct regarding Chenbagaraman 

Pillai? 
1. He hailed from Kanyakumari dist. Of Travencore State 
2. He started Bharatha Matha Valibar Sangam 
3. He married Laxmibai of Indian National Army in 1931 
4. He joined the German Army and fight against the English in World War 
a. 1, 2, 3 are correct 4 incorrect  b. 1, 2 are correct 3, 4 are incorrect 
c. 1, 3, 4 are correct 2 is incorrect  d. 1, 2, 3, 4 are correct 
e. Answer not known 
fPo;tUk; $w;Wfspy; nrz;gfuhkd; gps;is gw;wpa rhpahd $w;W / $w;Wfs; 
vit?  

1. ,th; jpUthq;$h; murpd; fd;dpahFkhp khtl;lj;ij rhh;e;jth;  

2. ,th; ghuj khjh thypgh; rq;fk; vd;Dk; mikg;ig Njhw;Wtpj;jhh;.  

3. ,th; ,e;jpa Njrpa uhZtj;ij rhh;e;j yl;Rkpghia 1931 y; jpUkzk; 
nra;J nfhz;lhh;.  

4. ,th; n[h;khdpa gilapy; Nrh;e;J Kjy; cyfg;Nghhpy; Mq;fpNyaUf:F 
vjpuhf Nghuhbdhh;.  

a. 1, 2, 3 rhp> 4 jtwhdJ    b. 1, 2 rhpahdJ 3, 4 jtwhdJ  
c. 1, 3, 4 rhpahdJ 2 kl;Lk; jtwhdJ  d. 1, 2, 3, 4 rhpahdJ  
e. tpil njhpatpy;iy 

 
173. Consider the following pairs: 

I. Gopala Krishna Gokhale  - G.A. Natesan 
II. Vijaya Ragavachari  - Lala Lajpat Rai 
III. V.O. Chidambaram  -  Subramaniya Siva 
IV. T. Rengachari    - V.S. Srinivasa Sastri 
Which of the Pair/Pairs given above is/are incorrect? 
a. I and IV only   b. II only   c. IV only   
d. II and III only   e. Answer not known 
fPo;f;fz;l ,izfisf; ftdp:  
I. Nfhghy fpU~;z NfhfNy - [p.V. eNlrd;  

II. tp[a uhfthr;rhhpahh;  - yhyh y[;gj; uha;  

III. t.c.rpjk;guk;    - Rg;ukzpa rpth  

IV. b. uq;fhr;rhhpahh;  - tp.v];. rPdpthrd; rh];jphp 
Nkw;fz;l ,izapy; vJ jtwhdJ? 
a. I kw;Wk; IV kl;Lk;   b. II kl;Lk;    c. IV kl;Lk;  

d. II kw;Wk; III kl;Lk;   e. tpil njhpatpy;iy 
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174. Match List I with List II and select the correct answer using the codes given 
below: 
List I             List II 

      Freedom Fighters   Birth place 
       A. Chenbagaraman   1. Sengottai          
       B. Madasamy   2. Vathalagundu 
       C. Vanchinathan   3. Nanjilnadu 
       D. Subramaniya Siva  4. Ottapidaram 
  A B C D 
       a.       3 4 1 2 

b.       4 3 2 1 
       c. 2 4 3 1 
       d. 1 2 3 4 
       e.  Answer not known 

gl;bay; I gl;bay; II cld; nghUj;jp> fPNo cs;s njhFg;gpypUe;J rhpahd 
tpilia njhpT nra;f. 

        gl;bay; I     gl;bay; II 
    Rje;jpu Nghuhl;l tPuh;fs; gpwe;j ,lk; 
    A. nrz;gfuhkd;  1. nrq;Nfhl;il 

    B. khlrhkp   2. tj;jyFz;L  

    C. thQ;rpehjd;  3. ehQ;rpy;ehL 

    D. Rg;ukzpa rpth  4. Xl;lgplhuk;  

  A B C D 
       a.       3 4 1 2 

b.       4 3 2 1 
       c. 2 4 3 1 
       d. 1 2 3 4 
    e. tpil njhpatpy;iy 
 

175. Which English Army Officer attacked the Panchalamkurichi Fort in 1783? 
a. William Flint  b. William Fullerton  c. Bannerman 
d. Collin Maucaulay e. Answer not known 
ve;j Mq;fpy gil mjpfhhp 1783-y; ghQ;rhyq; Fwpr;rp Nfhl;ilia jhf;fpdhh;? 
a. tpy;ypak; gpspd;l;  b. tpy;ypak; Gy;yh;ld; c. ghdh;Nkd; 
d. fhypd; nkf;fhNy  e. tpil njhpatpy;iy 

 
176. Choose the correctly matched pairs: 

(1) Rajaji formed his ministry  - 1939 
(2) Vedaranyam Sathyagragha  - 1930 
(3) Reorganised educational system - 1958 
(4) C.R. Formula    - 1944 
a. (1) and (3)   b. (1) and (2)   c. (2) and (4) 
d. (3) and (4)   e. Answer not known 
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fPo;f;fhz;gdtw;Ws; rhpahd nghUj;jq;fisj; Njh;e;njLf;fTk; 
(1) ,uh[h[p mikr;ruitia   - 1939 
   mikj;j Mz;L 
(2) Ntjhuz;a rj;jpahfpufk;  - 1930 
(3) kW rPuikg;G fy;tpKiw  - 1958 
(4) rp.Mh; ghh;Kyh (jpl;lk;)   - 1944 
a. (1) kw;Wk; (3)  b. (1) kw;Wk;  (2)  c. (2) kw;Wk;  (4) 
d. (3) kw;Wk; (4)  e. tpil njhpatpy;iy 

 
 

177. Which of the following about Kamaraj are true? 
(i) He was arrested under Section 74 of Salt Act 
(ii) He was released on March 12, 1931 
(iii) He came to be closely associated with Rajaji during the election of 1926. 
a. (i) only   b. (ii) and (iii)  c. (i) and (ii) 
d. (i) and (iii)   e. Answer not known 
gpd;tUtdtw;wpy; ve;j $w;Wfs; fhkuh[h; gw;wpr; rhpahdit? 
(i) mth; cg;G rl;lk; gphpT 74-d; fPo; ifJ nra;ag;gl;lhh;. 

(ii) mth; khh;r; 12> 1931-k; Mz;L tpLjiy nra;ag;gl;lhh;. 
(iii) mth; 1926-k; Mz;L Njh;jypy; uh[h[pAld; neUf;fkhf ,ize;J 

nray;gl;L te;jhh;. 
a. (i) kl;Lk;   b. (ii) kw;Wk; (iii)  c. (i) kw;Wk; (ii) 
d. (i) kw;Wk; (iii)  e. tpil njhpatpy;iy 
 

178. Assertion [A]:Extremism arose along with the Swadeshi Movement in Tamil 
Nadu. 
Reason [R]: The leaders of the Swadeshi Movement became Leaders of the 
People, whose speeches and writings aroused the masses. 
a. [A] is true but [R] is false 
b. Both [A] and [R] are true; and [R] is the correct explanation of [A] 
c. Both [A] and [R] are true; but [R] is not the correct explanation of [A] 
d. [A] is false, [R] is true 
e. Answer not known 
typAWj;jy; [A]: RNjrp ,af;fj;Jld; jkpofj;jpy; jPtputhjKk; jiy 
J}f;fpaJ. 
fhuzk; [R]: RNjrp ,af;f jiyth;fs; kf;fs; jiyth;fshf khwpdh;> ,th;fspd; 
Ngr;Rk; vOj;Jk; kf;fis vOr;rpAwr; nra;jJ. 
a. [A] rhp; Mdhy; [R] jtW 
b. [A] kw;Wk; [R] rhp; kw;Wk; [R], [A] tpw;fhd rhpahd tpsf;fk; 
c. [A] kw;Wk; [R] rhp; Mdhy; [R], [A] tpw;fhd rhpahd tpsf;fk; my;y 

d. [A] jtW [R] rhp 
e. tpil njhpatpy;iy 

 
179. Which of the following statement about Thillaiyadi Valliammai are correct? 

(i) She participated in the protest against the policy of Apartheid in South 
Africa at the age of 16 

(ii) She worked with Gandhi in his early years 
(iii) She died during the anti-apartheid agitation 
 



 

62 | PageAPPOLO STUDY CENTRE PH: 044 - 24339436, 42867555, 9840226187 

 

a. (i) is correct   b. (i), (ii) and (iii) are correct 
c. (i) and (ii) are only correct d. (ii) and (iii) are only correct 
e. Answer not known 
jpy;iyahb ts;spak;ik gw;wp rhpahd $w;iwf; $Wf. 
(i) njd; Mg;gphpf;fhtpy; ,dg; ghFghl;bw;F vjpuhd Nghuhl;lj;jpy; jdJ 16 

tajpy; gq;nfLj;jth; 
(ii) fhe;jpNahL Muk;gfhyj;jpy; Ntiy nra;jth; 
(iii) ,dg; ghFghl;bw;F vjpuhf ele;j Nghuhl;lj;jpNyNa ,we;J Nghdth; 
a. (i) vd;gJ rhp   b. (i), (ii) kw;Wk; (iii) rhp  

c. (i) kw;Wk; (ii) kl;Lk; rhp  d. (ii) kw;Wk; (iii) kl;Lk; rhp   

e. tpil njhpatpy;iy 
 

180. Which are the correct statements about Jeevanandam? 
(i) Jeevanadam founded an ashram Unmai Vilakka Nilayam 
(ii) He did not participate in the temple entry struggle at Susindram 
(iii) Jeevanadam did not establish Gandhi ashram in Siruvayal 
(iv) He was involved in Vaikkom Satyagraha 
a. (i) and (iv) only  b. (iii) and (iv) only  c. (ii) and (iii) only 
d. (i) and (iv) only  e. Answer not known 
[Pthde;jk; Fwpj;j jfty;fspy; rhpahdit 
(i) [Pthde;jk; “cz;ik tpsf;f epiyak;” vd;Dk;  Mrpukj;ij Njhw;Wtpj;jhh; 

(ii) ,th; RrPe;jpuj;jpy; eilngw;w Nfhapy; EioTg; Nghul;lj;jpy; fye;J 
nfhs;stpy;iy 
(iii) [Pthde;jk; fhe;jp Mrpukj;ij rpWthaypy; epWttpy;iy 

(iv) ,th; itf;fk; Nghuhl;lj;jpy; <Lgl;lhh;  
a. (i) kw;Wk; (ii) kl;Lk;  b. (iii) kw;Wk; (iv) kl;Lk;   

c. (ii) kw;Wk; (iii) kl;Lk;  d. (i) kw;Wk; (iv) kl;Lk;    

e. tpil njhpatpy;iy 
 

181. Consider the following  
Assertion (A):Pulithevar tried to get the support of Hyder Ali and the French. 
Reason (R): Hyder Ali could not help Pulithevar as he was already in a serious 
conflict with the Marathas. 
a. Both (A) and (R) are correct, but (R) is not the correct explanation of (A) 
b. Both (A) and (R) are wrong 
c. Both (A) and (R) are correct and (R) is the correct explanation of (A) 
d. (A) is wrong and (R) is correct  
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): Gypj;Njth;> i`jh; myp kw;Wk; njhlh; Nghh;fspy; <Lgl;Lf; ngw 
Kad;whh;. 
fhuzk; (R): kuhj;jpah;fNshL Vw;fdNt njhlh; Nghh;fspy; <Lgl;Lf; 
nfhz;bUe;jjhy; i`jh; mypahy; Gypj;NjtUf;F cjtKbahky; NghdJ. 
a. $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhp vdpDk; fhuzk; (R) $w;W (A) 
f;fhd rhpahd tpsf;fk; ,y;iy 
b. $w;W (A) kw;Wk; fhuzk; (R) Mfpa ,uz;LNk jtwhdit 

c. $w;W (A) kw;Wk; fhuzk; (R) Mfpait rhp> fhuzk; R $w;W (A) it 
rhpahf tpsf;FfpwJ 
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d. $w;W (A) jtwhdJ fhuzk; (R) rhpahdJ  
e. tpil njhpatpy;iy 

 
182. Match the following  

A. Kattabomman   1. Col. Bon Jour 
B. Maruthu Brothers  2. Captain Campbell 
C. Yusuf Khan   3. Colin Macaulay 
D. Muthu Vadugar 4. Bannerman 

A  B C D 
a.  2 3 1 4 
b.  3 2 1 4 
c.  2 4 1 3 
d.  4 3 2 1 
e.  Answer not known 
nghUj;Jf 
A. fl;lnghk;kd;  1. fh;dy; ghd; N[hh; 

B. kUJ rNfhjuh;fs; 2. Nfg;ld; Nfk;g;ngy; 

C. A+Rg;fhd;   3. fhypd; nkf;fhNy 

D. Kj;JtLfh;  4. ghndh;nkd; 
A  B C D 

a.  2 3 1 4 
b.  3 2 1 4 
c.  2 4 1 3 
d.  4 3 2 1 
e. tpil njhpatpy;iy 

 
183. Which of the following statements are true about Kattabomman? 

(i) Jackson agreed to meet Kattabomman at Ramalinga Vilas in 
Ramanathapuram. 

(ii) Kattabomman was hanged by the British 
(iii) He was defeated at Kalakkadu Battle 
(iv) He was a brother of Velu Nachiyar 
a. (iv) only correct    b. (ii) and (iii) are correct   
c. (iii) and (iv) are correct  d. (i) and (ii) are correct  
e. Answer not known 
fPo;f;fhzg;gLk; fl;lnghk;kidg; gw;wpa jfty;fspy; vit rhpahdit? 
(i) [hf;rd; ,uhkehjGuj;jpy; cs;s ,uhkypq;f tpyhrpy; fl;lnghk;kid 

re;jpf;f ,ire;jhh;. 
(ii) fl;lnghk;kd; Mq;fpNyah;fshy; J}f;fpyplg;gl;lhh; 
(iii) ,th; fsf;fhL Nghhpy; Njhw;fbf;fg;gl;lhh; 
(iv) ,th; NtYehr;rpahhpd; rNfhjuh; Mthh; 
a. (iv) kl;Lk; rhp  b. (ii) kw;Wk; (iii) rhp  c. (iii) kw;Wk; (iv) rhp 
d. (i) kw;Wk; (ii) rhp  e. tpil njhpatpy;iy 
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184. Which of the following statements about the economic cause for South Indian 
Rebellion are False? 
(i) Taxes were raised upto 25% in Dindigul 
(ii) 50% of Taxes were spent for the welfare of the people 
(iii) British got loans from Kings 
(iv) There was a famine in 1798 
a. (i) and (ii) are True (iii) and (iv) are false 
b. (iii) and (iv) are True (i) and (ii) are false 
c. (i) and (iv) are True (ii) and (iii) are false 
d. (ii) and (iii) are True (i) and (iv) are false 
e. Answer not known 
fPNo nfhLf;fg;gl;l njd;dpe;jpa Gul;rpf;fhd nghUshjhu fhuzq;fspy; vJ jtW 
vd;gij vOJf. 
(i) jpz;Lf;fy;ypy; 25% mjpfkhf thp cah;j;jg;gl;lJ. 
(ii) 50% thp kf;fspd; eyDf;F cgNahfg;gLj;jg;gl;lJ. 
(iii) gphpl;b~hh; kd;dh;fsplk; fld; ngw;wdh; 
(iv) 1798y; mq;Nf fLikahd gQ;rk; Vw;gl;lJ. 
a. (i) kw;Wk; (ii) rhp (iii) kw;Wk; (iv) jtW b. (iii) kw;Wk; (iv) rhp (i) kw;Wk; (ii) jtW 
c. (i) kw;Wk; (iv) rhp (ii) kw;Wk; (iii) jtW d. (ii) kw;Wk; (iii) rhp (i) kw;Wk; (iv) jtW 
e. tpil njhpatpy;iy 
 

185. Which one of the statements is/are incorrect regarding Deeran Chinnamalai? 
1. Deeran Chinnamalai participated in the Anglo Mysore war 
2. He organised the soldiers of the Kongu region against the British 
3. In 1802 he defeated by the Maxwell in the battle of Odanilai 
4. He was hanged by British at Sankakiri 
a. 1 is correct 2, 3, 4 are incorrect  b. 1, 2 are correct 3, 4 are incorrect 
c. 1, 2, 4 are correct 3 is incorrect  d. 1, 2, 3 are correct 4 is incorrect 
e. Answer not known 
fPo;fz;l $w;Wfspy; jPud; rpd;d kiyia gw;wp jtwhd $w;W vJ? 
1. jPud; rpd;dkiy Mq;fpy ik#h; Nghh;fspy; fye;J nfhz;lhh; 
2. nfhq;F ehl;L tPuh;fis Mq;fpNyaUf;F vjpuhf xUq;fpizj;jhh; 
3. 1802y; Nkf;];nty; vd;w jsgjp jPud; rpd;dkiy Njhw;fbj;jhh; 
4. ,th; rq;ffphp Nfhl;ilapy; J}f;fpyplg;gl;lhh; 
a. 1 kl;Lk; rhp 2> 3> 4 jtwhdJ   

b. 1> 2 rhpahdJ 3> 4 jtwhdJ 
c. 1> 2> 3 rhpahdJ 3 kl;Lk; jtwhdJ 
d. 1> 2> 3 rhpahdJ 4 kl;Lk; jtwhdJ 
e. tpil njhpatpy;iy 

 

186. Which one of the statement is not correct regarding the Trichy Proclamation 
i. The Proclamation was published by Marudu Pandiyar 
ii. It created a confidence among the people 
iii. It did not infuse nationalism  
iv. It condemned the political activities of Carnatic Nawabs and Muhammad 

Ali 
a. i only b. ii only c. iii only d. iv only e. Answer not known 
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fPo;f;fz;ltw;wpy; jpUr;rp gpufldk; gw;wp jtwhd $w;W vJ? 
(i) ,g;gpufldk; kUJghz;bah;fshy; ntspaplg;gl;lJ 
(ii) ,g;gpufldk; kf;fSf;F ek;gpf;ifia Vw;gLj;jpaJ 
(iii) gpufldk; Njrpa rpe;jidia ntspg;gLj;jtjhf mikatpy;iy 
(iv) Mw;fhL ethg; kw;Wk; KfkJ mypapd; murpay; eltbf;iffis 

,g;gpufldk; fz;bj;jJ. 
a. i kl;Lk; b. ii kl;Lk; c. iii kl;Lk;  d. iv kl;Lk; e. tpil njhpatpy;iy 

 
187. Arrange the following events in the chronological order: 

1. Death of Pulithevar 
2. Death of Kuyili 
3. Death of Kattabomman  
4. Death of Maruthu brothers 
a. 2, 3, 1, 4   b. 1, 2, 3, 4   c. 1, 3, 2, 4 
d. 3, 1, 4, 2   e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s epfo;Tfis fhythpirg;gLj;Jf. 
1. Gypj;Njthpd; ,wg;G 
2. Fapypapd; ,wg;G 
3. fl;lg;nghk;kdpd; ,wg;G 
4. kUJrNfhjuh;fspd; ,wg;G 
a. 2, 3, 1, 4   b. 1, 2, 3, 4   c. 1, 3, 2, 4 
d. 3, 1, 4, 2   e. tpil njhpatpy;iy 
 

188. Choose the correct pairs: 
1. Ondiveeran   - Maruthu Brothers 
2. Gopala Nayak   - Dindigul League  
3. Kuyili   - Pulithevar 
4. Muthu Vaduga Nathar  - Kalaiyarkovil Battle 
a. 1 and 3 are correct b. 1 and 2 are correct c. 2 and 3 are correct 
d. 2 and 4 are correct e. Answer not known 
rhpahd ,izfisj; Njh;T nra;f. 
1. xz;btPud;   - kUJ rNfhjuh;fs; 
2. Nfhghy ehaf;fh;  - jpz;Lf;fy; $l;likg;G 
3. Fapyp   - Gypj;Njth; 
4. Kj;JtLfehjh;  - fhisahh; Nfhapy; Nghh; 
a. 1 kw;Wk; 3 rhp  b. 1 kw;Wk; 2 rhp  c. 2 kw;Wk; 3 rhp 
d. 2 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 

 

189. Match the following: 
A. Sivasubramanianar  1. Kayathar Fort 
B. Kattabomman   2. Sangagiri Fort 
C. Marudhu Brothers   3. Nagalapuram 
D. Dheeran Chinnamalai  4. Thirupathur Fort  
 A B C D 
a.  3 1 4 2 
b.  3 4 1 2 
c.  3 1 2 4 
d.  4 1 3 2 
e. Answer not known 
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nghUj;Jf: 
A. rptRg;ukzpadhh;   1. faj;jhW Nfhl;il 

B. fl;lnghk;kd;   2. rq;ffphp Nfhl;il 

C. kUJ rNfhjuh;fs;  3. ehfyhGuk; 

D. jPud; rpd;dkiy   4. jpUg;gj;J}h; Nfhl;il 

A B C D 
a.  3 1 4 2 
b.  3 4 1 2 
c.  3 1 2 4 
d.  4 1 3 2 
e. tpil njhpatpy;iy 

 

190. Choose the correct statement: 
i. The Palayakkarars system was in practice in the Kakatiya kingdom. 
ii. Puli Thevar recaptured Nerkattumseval in 1764 after the death of Khan 

Sahib. 
iii. Yusuf khan was charged with treachery and hanged in 1764 for negotiating 

with the Palayakkarars, without informing the company administration  
iv. Ondiveeran led one of the army units of Kattabomman. 
a. i, ii and iv are correct  b. i, ii, and iii are correct   
c. iii and iv are correct  d. i and iv are correct   
e. Answer not known 
rhpahd $w;iwj; Njh;T nra;aTk;. 
i. ghisaf;fhuh; Kiw fhf;fj;jpag; Nguurpd; eilKiwapy; ,Ue;jJ. 

ii. fhd; rhfpg;gpd; ,wg;gpw;Fg;gpd; G+ypj;Njth; new;fl;Lk; Nrtiy 1764-,y; 
kPz;Lk; ifg;gw;wpdhh;. 

iii. fk;ngdp eph;thfj;jpw;Fj; jfty; mspf;fhky; ghisaf;fhuh;fNs 
Ngr;Rthh;j;ijapy; <Lgl;ljhy; A+rg;fhd; JNuhfp vd;W Fw;wk; Rkj;jg;gl;L 
1764 ,y; J}f;fpyplg;gl;lhh;. 

iv. xz;btPud; fl;lnghk;kdpd; gilg;gphpTfspy; xd;iwj; jiyikNaw;W 
topelj;jpdhh;. 

a. (i), (ii) kw;Wk; (iv) Mfpait rhp  b. (i), (ii) kw;Wk; (iii) Mfpait rhp 

c. (iii) kw;Wk; (iv) Mfpait rhp  d. (i) kw;Wk; (iv) Mfpait rhp 

 
191. Arrange the following in chronological order 

1. Vellore Mutiny 
2. Execution of Kattabomman 
3. Palani conspiracy 
4. Treaty of Pondicherry 
a. 1, 2, 3, 4   b. 4, 3, 2, 1   c. 2, 3, 4, 1 
d. 4, 2, 3, 1   e. Answer not known 
fPo;f;fz;ltw;iw fhy tupirg;gLj;jp tpilia Nju;e;njL: 
1. NtY}u; fyfk; 
2. fl;lnghk;kid J}f;fpypLjy; 
3. godp rjpjpl;lk; 
4. ghz;br;Nrup cld;gbf;if 
a. 1, 2, 3, 4   b. 4, 3, 2, 1   c. 2, 3, 4, 1 
d. 4, 2, 3, 1   e. tpil njupatpy;iy 
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192. Assertion (A):Through a letter correspondence to Hyder Ali Velunachiyar asked 

5000 infantry and 5000 cavalry strength. 
Reason  (R): Velunachiyar conveyed her strong determination to fight the 
English. 
a. Both A and R are correct, but R is not the correct explanation of A. 
b. Both A and R are wrong. 
c. Both A and R are correct and R is the correct explanation of A 
d. A is wrong and R is correct 
e. Answer not known 
$w;W A: NtY ehr;rpahh; i`jh; mypaplk; 5000 fhyhl;gilfSk;> 5000 
Fjpiug;gilfSk; mDg;Gk; gb fbjk; vOjpdhh;. 
fhuzk; R: NtY ehr;rpahh; Mq;fpNyaNuhL NkhJtjpy; jPtpukhf ,Ug;gijj; 
njspTgLj;jpdhh;. 
a. $w;W A kw;Wk; fhuzk; R ,uz;Lk; rhp vdpDk; fhuzk; R $w;iw A rhpahf 

tpsf;ftpy;iy. 
b. $w;W A kw;Wk; fhuzk; R Mfpa ,uz;LNk jtwhdit 

c. $w;W A kw;Wk; fhuzk; R ,uz;Lk; rhp fhuzk; R $w;iw A rhpahf 
tpsf;FfpwJ 

d. $w;W A jtwhdJ. fhuzk; R rhpahdJ 
e. tpil njhpatpy;iy. 

 
193. The Karachi Session in 1931 of the Indian National Congress was presided over 

by 
a. Abul Kalam Azad b. Vallabai Patel  c. Jawaharlal Nehru 
d. Sarojini   e. Answer not known 
1931 Mk; Mz;L fuhr;rpapy; eilngw;w ,e;jpa Njrpa fhq;fpu]; khehl;by; 
jiyik tfpj;jth;. 
a. mGy; fyhk; Mrhj; b. ty;ygha; gl;Nly;  c. [t`h;yhy; NeU 

d. rNuh[pdp   e. tpil njupatpy;iy 
 

194. ‘Indian Society of Oriental Art’ was founded by  
a. Nihar Ranjan Roy   b. Narendra Mohan Mukherjee   
c. Abanindranath Tagore  d. Barindra Kumar Ghosh  
e. Answer not known  
gpd;tUgth;fspy; ahh; njhd;ikahd fiyfSf;fhf ,e;jpa rq;fj;jpid 
Vw;gLj;jpath; 
a. ep`hh; uQ;rd; uha;  b. eNue;jpu Nkhfd; Kfh;[p   

c. mgpdpe;jpuehj; jh$h;  d. ghpe;jpu Fkhh; NfhR  

e. tpil njhpatpy;iy 
 

195. Who was called by Valentine Chirol as the ‘Father of Indian Unrest’? 
a. Lala Lajpat Rai  b. Aurobindo Ghosh c. Bipin Chandra Pal 
d. Bal Gangadhar Tilak e. Answer not Known 
Ntyd;ild; rpNuhy; vd;gtuhy; ‘,e;jpa fpsh;r;rpapd; je;ij’ vd;W 
miof;fg;gl;lth; ahh;? 
a. yhyh y[gjp uha; b. mutpe;j Nfh~;  c. gpgpd; re;jpu ghy; 
d. ghy fq;fhju jpyf;  e.  tpil njhpatpy;iy 
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196. Find the difference in C.I and S.I for P = 8000, r = 5% per annum and n = 3 years 

a. Rs. 20/-   b. Rs. 45/-   c. Rs. 61/-  
d. Rs. 50/-   e. Answer not known 
jdptl;bf;Fk; $l;L tl;bf;Fk; ,ilNaAs;s tpj;jpahrj;ijf; fhz;f. P = &. 8000> 
Mz;L tl;b tpfpjk; r = 5%, n = 3 Mz;Lfs; 

a. &. 20/-   b. Rs. 45/-   c. Rs. 61/-  
d. &. 50/-   e. tpil njhpatpy;iy 

 
197. If a : b = 2 : 3 and c : d = 4 : 7 then a : d is _____ 

a. 8 : 21 b. 12 : 21 c. 21 : 8 d. 21 : 12 e. Answer not known 
a : b = 2 : 3 kw;Wk; c : d = 4 : 7 vdpy; a : d = ____ 
a. 8 : 21 b. 12 : 21 c. 21 : 8 d. 21 : 12 e. tpil njhpatpy;iy 

 
198. An aircraft can accommodate 280 people in 2 trips. Then the number of trips 

required for 1400 people is 
a. 8  b. 10  c. 9  d. 12  e. Answer not known 
280 egh;fs; xU tpkhdj;jpy; 2 Kiw gazk; nra;fpd;wdh;> vdpy; 
mt;tpkhdj;jpy; 1400 egh;fs; gazk; nra;Ak; Kiwfs; 
a. 8  b. 10  c. 9  d. 12  e. tpil njhpatpy;iy 

 
199. Find the simple interest Rs. 3,000 at 6¼ % per annum for the period from 4th Feb 

2005 to 18th April 2005. 
a. Rs. 36.50   b. Rs. 37.50   c. Rs. 38.50 
d. Rs. 39.50   e. Answer not known 
mry; &. 3>000 MdJ 6¼ % tUl tl;b tPjj;jpw;F 4 gpg;uthp 2005 Kjy; 18 
Vg;uy; 2005 tiu cs;s fhyj;jpy; fpilf;Fk; jdptl;b fhz;f. 
a. Rs. 36.50   b. Rs. 37.50   c. Rs. 38.50 
d. Rs. 39.50   e. tpil njhpatpy;iy 

 

200. Find the compound interest on Rs. 10,000 at 8% p.a. for 
3

2
4

 years, interest 

compounded yearly. 
a. Rs. 2363.84   b. Rs. 2633.48   c. Rs. 4600.44 
d. Rs. 5300   e. Answer not known 
&. 10>000 ,f;F 8% Mz;L tl;bapy;> Mz;Lf;nfhU Kiw tl;bf; fzf;fplg;gLk; 

Kiwapy; 
3

2
4

 Mz;LfSf;F> fpilf;Fk; $l;L tl;biaf; fhz;f. 

a. &. 2363.84   b. &. 2633.48   c. &. 4600.44 
d. &. 5300   e. tpil njhpatpy;iy 

 

 

 

 


